|                                      | Number of              | Number of                   | Total Appual  | Completion<br>Time/ | Annual           | Hourly Labor             | ¢ Value of Appual                  | Average<br>Nonhour            | Total Annual<br>Nonhour Burden | Avg. Time (Hrs)<br>per Response | Cost to                        |
|--------------------------------------|------------------------|-----------------------------|---------------|---------------------|------------------|--------------------------|------------------------------------|-------------------------------|--------------------------------|---------------------------------|--------------------------------|
| Regulation/Activity                  | Annual<br>Respondents  | Responses per<br>Respondent | Responses     | Response<br>(Hours) | Burden<br>Hours* | Rate (Incl.<br>Benefits) | \$ Value of Annual<br>Burden Hours | Burden Cost<br>(per Response) | Cost                           | for Gov't<br>Review             | Government<br>(\$57.01 / hour) |
| <b>Application - Migratory</b>       | Bird Import/Ex         | port Permit (Fo             | orm 3-200-6)  | 50 CFR 21           |                  |                          |                                    |                               |                                |                                 |                                |
| Individuals/Households               | 36                     | 1                           | 36            | 1                   | 36               | \$35.63                  | \$1,282.68                         | \$75                          | 2,700                          |                                 |                                |
| Private Sector                       | 30                     | 1                           | 30            | 1                   | 30               | 33.11                    | 993.30                             | 75                            | 2,250                          |                                 |                                |
| State/Local/Tribal                   | 20                     | 1                           | 20            | 1                   | 20               | 48.24                    | 964.80                             | 0                             | 0                              |                                 |                                |
| Subtotal                             | 86                     | -                           | 86            |                     | 86               |                          | \$3,240.78                         |                               | 4,950                          | 1                               | \$4,902.86                     |
| <b>Application - Migratory</b>       | <b>Bird Scientific</b> | <b>Collecting Per</b>       | mit (Form 3-2 | 200-7) 50 CF        | R 21             |                          |                                    |                               |                                |                                 |                                |
| Individuals/Households               | 70                     | 1                           | 70            | 5                   | 350              | \$35.63                  | \$12,470.50                        | \$100                         | 7,000                          |                                 |                                |
| Private Sector                       | 80                     | 1                           | 80            | 5                   | 400              | 33.11                    | 13,244.00                          |                               | 8,000                          |                                 |                                |
| State/Local/Tribal                   | 100                    | . 1                         | 100           | 5                   | 500              | 48.24                    | 24,120.00                          |                               | 0                              |                                 |                                |
| Subtotal                             | 250                    |                             | 250           |                     | 1,250            |                          | \$49,834.50                        |                               | 15,000                         | 2.5                             | \$35,631.25                    |
| Application - Taxidermy              |                        | 3-200-8) 50 CF              |               |                     |                  |                          |                                    |                               |                                |                                 |                                |
| Individuals/Households               | 0                      | 1                           | 0             | 2                   | 0                | \$35.63                  | \$0.00                             | \$100                         | 0                              |                                 |                                |
| Private Sector                       | 1,760                  | 1                           | 1,760         | 2                   | 3,520            | 33.11                    | 116,547.20                         |                               | 176,000                        |                                 |                                |
| State/Local/Tribal                   | 0                      | . 1                         | 0             | 2                   | 0                | 48.24                    | 0.00                               |                               | 0                              |                                 |                                |
| Subtotal                             | 1,760                  |                             | 1,760         |                     | 3,520            |                          | \$116,547.20                       |                               | 176,000                        | 1                               | \$100,337.60                   |
| Application - Waterfowl              | •                      |                             |               |                     |                  |                          |                                    |                               |                                |                                 |                                |
| Individuals/Households               | 40                     | 1                           | 40            | 1.5                 | 60               | \$35.63                  | \$2,137.80                         | \$75                          | 3,000                          |                                 |                                |
| Private Sector                       | 170                    | 1                           | 170           | 1.5                 | 255              | 33.11                    | 8,443.05                           |                               | 12,750                         |                                 |                                |
| State/Local/Tribal                   | 0                      | . 1                         | 0             | 1.5                 | 0                | 48.24                    | 0.00                               |                               | 0                              |                                 |                                |
| Subtotal                             | 210                    |                             | 210           |                     | 315              |                          | \$10,580.85                        |                               | 15,750                         | 1                               | \$11,972.10                    |
| Application - Special Pu             |                        |                             |               |                     |                  |                          |                                    |                               |                                |                                 |                                |
| Individuals/Households               | 165                    | 1                           | 165           | 1.5                 | 248              | \$35.63                  | \$8,818.43                         | \$75                          | 12,375                         |                                 |                                |
| Private Sector                       | 225                    | 1                           | 225           | 1.5                 | 338              | 33.11                    | 11,174.63                          |                               | 16,875                         |                                 |                                |
| State/Local/Tribal                   | 55                     | - 1                         | 55            | 1.5                 | 83               | 48.24                    | 3,979.80                           |                               | 0                              |                                 | *** *** **                     |
| Subtotal                             | 445                    |                             | 445           |                     | 668              |                          | \$23,972.85                        |                               | 29,250                         | 1.5                             | \$38,054.18                    |
| Application - Rehabilita             | -                      | -                           |               | 10                  |                  | <b>405.00</b>            | <b>404 070 00</b>                  | <b>4</b> 50                   | 0.500                          |                                 |                                |
| Individuals/Households               | 50                     | 1                           | 50            | 12                  | 600              | \$35.63                  | \$21,378.00                        | \$50                          | 2,500                          |                                 |                                |
| Private Sector                       | 380                    | 1                           | 380           | 12                  | 4,560            | 33.11                    | 150,981.60                         |                               | 19,000                         |                                 |                                |
| State/Local/Tribal                   | 12                     | 1                           | 12            | 12                  | 144              | 48.24                    | 6,946.56                           |                               | 0                              |                                 | \$100 <b>7</b> 00 c0           |
| Subtotal                             | 442                    |                             | 442           |                     | 5,304            |                          | \$179,306.16                       |                               | 21,500                         | 4                               | \$100,793.68                   |
| Application - Special Pu             |                        |                             |               |                     | -                |                          |                                    | \$75                          | 0.275                          |                                 |                                |
| Individuals/Households               | 125<br>240             | 1<br>1                      | 125<br>240    | 4.5<br>4.5          | 563              | \$35.63                  | \$20,041.88                        |                               | 9,375                          |                                 |                                |
| Private Sector<br>State/Local/Tribal | 240                    | 1                           | 240           | 4.5<br>4.5          | 1,080<br>0       | 33.11<br>48.24           | 35,758.80<br>0.00                  |                               | 18,000<br>0                    |                                 |                                |
| Subtotal                             | 365                    | . 1                         | 365           | 4.5                 | 1,643            | 40.24                    | \$55,800.68                        |                               | 27,375                         | 4                               | \$83,234.60                    |
| Application - Special Pu             |                        | ssion of Dood I             |               | de for Educa        |                  | osos (Eorm 2.2           |                                    |                               | 21,375                         | 4                               | <i>φ</i> 03,234.00             |
| Individuals/Households               | 95                     | 1                           | 95            | 2.5                 | 238              | \$35.63                  | \$8,462.13                         | \$75                          | 7,125                          |                                 |                                |
| Private Sector                       | 93<br>80               | 1                           | 95<br>80      | 2.5                 | 200              | 33.11                    | 6,622.00                           |                               | 6,000                          |                                 |                                |
| State/Local/Tribal                   | 0                      | 1                           | 0             | 2.5                 | 200              | 48.24                    | 0,022.00                           |                               | 0,000                          |                                 |                                |
| Subtotal                             | 175                    |                             | 175           | 2.5                 | 438              | 40.24                    | \$15.084.13                        |                               | 13,125                         | 3                               | \$29.930.25                    |
| Application - Special Pu             |                        | ory Game Bird               |               | (Eorm 3-200         |                  | ER 21                    | φ10,004.10                         |                               | 10,120                         | 5                               | φ20,000.20                     |
| Individuals/Households               | 5                      | 1                           | 5             | 1.5                 | 8                | \$35.63                  | \$267.23                           | \$75                          | 375                            |                                 |                                |
| Private Sector                       | 10                     | 1                           | 10            | 1.5                 | 15               | 33.11                    | 496.65                             |                               | 750                            |                                 |                                |
| State/Local/Tribal                   | 0                      | 1                           | 0             | 1.5                 | 0                | 48.24                    | 0.00                               |                               | 0                              |                                 |                                |
| Subtotal                             | 15                     |                             | 15            | 1.0                 | 23               | -0.24                    | \$763.88                           |                               | 1,125                          |                                 | \$855.15                       |
| Application - Special Pu             |                        | llaneous (Form              |               | 0 CFR 21            | _0               |                          | ¢7.00.00                           |                               | 1,120                          | -                               | \$000.10                       |
| Individuals/Households               | 25                     | 1                           | 25            | 2.5                 | 63               | \$35.63                  | \$2,226.88                         | \$100                         | 2,500                          |                                 |                                |
| Private Sector                       | 29                     | 1                           | 29            | 2.5                 | 73               | 33.11                    | 2,400.48                           |                               | 2,900                          |                                 |                                |
| State/Local/Tribal                   | 5                      | 1                           | 5             | 2.5                 | 13               | 48.24                    | 603.00                             |                               | 2,000                          |                                 |                                |
| Subtotal                             | 59                     | -                           | 59            | -                   | 148              |                          | \$5,230.35                         |                               | 5,400                          | 2                               | \$6,727.18                     |
|                                      |                        |                             |               |                     |                  | •                        | ,                                  |                               | -,                             |                                 | . , –                          |

| Application - Raptor Pro                            |                      | nit (Form 3-200 |                    |             | 100            | <b>#05.00</b>      | <b>#0 F C 0 0</b>          | ¢100         | 0.500             |     |                      |
|---|----------------------|-----------------|--------------------|-------------|----------------|--------------------|----------------------------|--------------|-------------------|-----|----------------------|
| Individuals/Households                              | 25                   | 1               | 25                 | 4           | 100            | \$35.63            | \$3,563.00                 | \$100        | 2,500             |     |                      |
| Private Sector                                      | 70                   | 1               | 70                 | 4           | 280            | 33.11              | 9,270.80                   | 100          | 7,000             |     |                      |
| State/Local/Tribal                                  | 0 95                 | . 1             | 0<br>95            | 4           | 0<br>380       | 48.24              | 0.00                       | 0            | 0<br>9,500        | 2   | ¢10 021 00           |
| Subtotal  |                      | an Dannit (Can  |                    | 50 OFD 01   | 380            |                    | \$12,833.80                |              | 9,500             | 2   | \$10,831.90          |
| Application - Migratory I                           | 850                  |                 |                    |             | 1 400          | ቀጋር 6ጋ             | \$52,999.63                | \$50         | 42 500            |     |                      |
| Individuals/Households                              |                      | 1               | 850                | 1.75        | 1,488          | \$35.63            |                            |              | 42,500            |     |                      |
| Private Sector                                      | 1,050<br>800         | 1<br>1          | 1,050<br>800       | 3.5<br>3.5  | 3,675          | 33.11              | 121,679.25                 | 100<br>0     | 105,000<br>0      |     |                      |
| State/Local/Tribal<br>Subtota/                      | 2,700                | . 1             | 2,700              | 3.5         | 2,800<br>7,963 | 48.24              | 135,072.00<br>\$309,750.88 | 0            | 147,500           | 25  | ¢201 017 E0          |
|   |                      | (Form 2 200 14  |                    |             | 7,903          |                    | \$309,750.88               |              | 147,500           | 2.5 | \$384,817.50         |
| Application - Eagle Exhi<br>Individuals/Households  |                      | 1               | <b>) 50 CFR 21</b> | 5.5         | 0              | \$35.63            | \$0.00                     | \$75         | 0                 |     |                      |
| Private Sector                                      | 150                  | 1               | 150                | 5.5         | 825            | 33.11              | \$0.00<br>27,315.75        | \$75<br>75   | 11,250            |     |                      |
| State/Local/Tribal                                  | 50                   | 1               | 50                 | 5.5         | 275            | 48.24              | 13,266.00                  | 0            | 11,250            |     |                      |
| Subtotal  | 200                  | . 1             | 200                | 5.5         | 1,100          | 40.24              | \$40,581.75                | 0            | 11,250            | 4   | \$45,608.00          |
|   |                      | norioon Boligio |                    | Dormit An   | ,              | d First Order (For | . ,                        | FD 22        | 11,250            | 4   | φ45,006.00           |
| Application - Eagle Parts<br>Individuals/Households | 2,400                | 1               | 2,400              | -           | 2,400          | \$35.63            | \$85,512.00                | FR 22<br>\$0 | 0                 |     |                      |
| Private Sector                                      | 2,400                | 1               | 2,400              | 1<br>1      | 2,400          | 33.11              | \$65,512.00<br>0.00        | ФU<br>0      | 0                 |     |                      |
|   | 0                    | 1               | 0                  | 1           | 0              | 48.24              | 0.00                       | 0            | 0                 |     |                      |
| State/Local/Tribal<br>Subtotal                      | 2,400                | . I             | 2.400              | 1           | 2,400          | 40.24              | \$85.512.00                | 0            | 0                 | 2   | \$273,648.00         |
| Application - Eagle Parts                           | ,                    | norioon Boligio | /                  | Do ordor l  | /              | rm 2 200 15b) 50   | 1 ,                        |              | U                 | 2   | φ273,040.00          |
| Individuals/Households                              | 2700                 | 1               | 2,700              | 0.5         | 1,350          | \$35.63            | \$48,100.50                | \$0          | 0                 |     |                      |
| Private Sector                                      | 0                    | 1               | 2,700              | 0.5         | 1,350          | 33.11              | \$48,100.50<br>0.00        | ФU<br>0      | 0                 |     |                      |
| State/Local/Tribal                                  | 0                    | 1               | 0                  | 0.5         | 0              | 48.24              | 0.00                       | 0            | 0                 |     |                      |
| Subtotal  | 2.700                | . 1             | 2.700              | 0.5         | 1,350          | 40.24              | \$48,100.50                | 0            | 0                 | 0.5 | \$76,963.50          |
| Application - Take of De                            | ,                    | loc and Eagles  | ,                  | Dick to Hum |                | Health or Safaty ( |                            |              | U                 | 0.5 | \$70,903.50          |
| Individuals/Households                              | 0                    |                 |                    | 3.5         |                | \$35.63            | \$0.00                     | \$100        | 0                 |     |                      |
|   |                      | 1               | 0                  |             |                | 33.11              |                            |              |                   |     |                      |
| Private Sector                                      | 42                   | 1               | 42<br>40           | 3.5<br>3.5  | 147            |                    | 4,867.17                   | 100<br>0     | 4,200             |     |                      |
| State/Local/Tribal<br>Subtotal                      | 40 82                | . <u> </u>      | 82                 | 3.5         | 140<br>287     | 48.24              | 6,753.60<br>\$11,620.77    | 0            | 0<br><i>4,200</i> | 2   | \$9,349.64           |
| Application - Take of Go                            |                      | ete (Eorm 2.20  |                    | 2 22        | 207            |                    | \$11,020.77                |              | 4,200             | 2   | <i>\$9,349.04</i>    |
| Individuals/Households                              |                      | 1 1             | 0-10) 50 CFr       | 6.5         | 0              | \$35.63            | \$0.00                     | \$100        | 0                 |     |                      |
| Private Sector                                      | 4                    | 1               | 4                  | 6.5         | 26             | 33.11              | 860.86                     | 100          | 400               |     |                      |
| State/Local/Tribal                                  | 4                    | 1               | 4                  | 6.5         | 0              | 48.24              | 0.00                       | 0            | 400               |     |                      |
| Subtotal  | 4                    | · 1             | 4                  | 0.5         | 26             | 40.24              | \$860.86                   | 0            | 400               | 2   | \$456.08             |
| Application - Special Ca                            | •                    | ermit (Eorm 3-  |                    | ED 22       | 20             |                    | \$000.00                   |              | 400               | 2   | φ430.00              |
| Individuals/Households                              | 0                    | 1               | 0                  | 7           | 0              | \$35.63            | \$0.00                     | \$0          | 0                 |     |                      |
| Private Sector                                      | 0                    | 1               | 0<br>0             | 7           | 0              | 33.11              | 0.00                       | 0            | 0                 |     |                      |
| State/Local/Tribal                                  | 7                    | 1               | 7                  | 7           | 49             | 48.24              | 2,363.76                   | 0            | 0                 |     |                      |
| Subtotal  | 7                    | . 1             | 7                  | 1           | 49             | 40.24              | \$2,363.76                 | 0            | 0                 | 5   | \$1,995.35           |
| Application - Eagle Incid                           | ,<br>dental Take: SI | hort-term (Form | n 3-200-71) 1      | 5 CFR 22.26 |                |                    | <i>42,000.10</i>           |              | Ŭ                 | J   | <i>\\\\\\\\\\\\\</i> |
| Individuals/Households                              | 15                   | 1               | 15                 | 16          | 240            | \$35.63            | \$8.551.20                 | \$500        | 7,500             |     |                      |
| Private Sector                                      | 95                   | 1               | 95                 | 16          | 1,520          | 110.08             | 167,321.60                 | 2,500        | 237,500           |     |                      |
| State/Local/Tribal                                  | 5                    | 1               | 5                  | 16          | 80             | 48.24              | 3,859.20                   | 2,000        | 0                 |     |                      |
| Subtotal  | 115                  | · -             | 115                | 10          | 1,840          | 40.24              | \$179,732.00               |              | 245,000           | 20  | \$131,123.00         |
| Application - Eagle Incid                           |                      | ong-term (Forn  |                    | 5 CER 22.26 |                |                    | ¢1.0,102.00                |              | 210,000           | 20  | +101,120.000         |
| Individuals/Households                              | 1                    | 1               | 1                  | 16          | 16             | \$35.63            | \$570.08                   | \$36,000     | 36,000            |     |                      |
| Private Sector                                      | 15                   | 1               | 15                 | 16          | 240            | 110.08             | 26,419.20                  | 36,000       | 540,000           |     |                      |
| State/Local/Tribal                                  | 1                    | 1               | 1                  | 16          | 16             | 48.24              | 771.84                     | 00,000       | 0.0,000           |     |                      |
| Subtotal  | 17                   | · -             | 17                 |             | 272            | 1012 1             | \$27,761.12                |              | 576,000           | 20  | \$19,383.40          |
| Transfer of Long-Term E                             |                      | rm 3-200-71) 🗜  |                    |             |                |                    |                            |              |                   |     | +=5,000.10           |
| Individuals/Households                              | 1                    | 1               | 1                  | 40          | 40             | \$35.63            | \$1,425.20                 | \$1,000      | 1,000             |     |                      |
| Private Sector                                      | 1                    | 1               | 1                  | 40          | 40             | 110.08             | 4,403.20                   | 1,000        | 1,000             |     |                      |
| State/Local/Tribal                                  | 1                    | 1               | 1                  | 40          | 40             | 48.24              | 1,929.60                   | 1,000        | 1,000             |     |                      |
| Subtotal  | 3                    | · -             | 3                  | -10         | 120            | 40.24              | \$7,758.00                 | 0            | 2,000             | 444 | \$75,937.32          |
| Amendment for Eagle In                              | -                    | Short-term (E   |                    | ) 50 CER 23 |                |                    | <i>\$1,700.00</i>          |              | 2,000             |     | φ. 0,007.0Z          |
| Individuals/Households                              | 5                    | 1               | 5                  | 6           | 30             | \$35.63            | \$1,068.90                 | \$150        | 750               |     |                      |
|   | 5                    | -               | U                  | 0           |                | <i>400.00</i>      | <i>\</i> 1,000.00          | \$100        | 100               |     |                      |

| Private Sector     | 20 | 1 | 20 | 6 | 120 | 110.08 | 13,209.60   | 500 | 10,000 |    |             |
|--------------------|----|---|----|---|-----|--------|-------------|-----|--------|----|-------------|
| State/Local/Tribal | 15 | 1 | 15 | 6 | 90  | 48.24  | 4,341.60    | 0   | 0      |    |             |
| Subtotal           | 40 |   | 40 |   | 240 |        | \$18,620.10 |     | 10,750 | 10 | \$22,804.00 |

| Amendment for Eagle In    | cidental Take | Long-term (   | Form 3-200-71  | 50 CFR 22  | .26-27     |               |                        |          |         |     |                  |
|---------------------------|---------------|---------------|----------------|------------|------------|---------------|------------------------|----------|---------|-----|------------------|
| Individuals/Households    | 1             | 1             | 1              | 452        | 452        | \$35.63       | \$16,104.76            | \$36,000 | 36,000  |     |                  |
| Private Sector            | 18            | 1             | 18             | 452        | 8,136      | 110.08        | 895,610.88             | 36,000   | 648,000 |     |                  |
| State/Local/Tribal        | 1             | 1             | 10             | 452        | 452        | 48.24         | 21,804.48              | 00,000   | 040,000 |     |                  |
| Subtotal                  | 20            | 1             | 20             | 432        | 9,040      | 40.24         | \$933,520.12           | 0        | 684,000 | 444 | \$506,248.80     |
| Application - Eagle Nest  |               | Nest (Earm 3- |                | 2 22 27    | 3,040      |               | \$300,020.12           |          | 004,000 |     | φ000,240.00      |
| Individuals/Households    | 5             | 1             | 5              | 16         | 80         | \$35.63       | \$2,850.40             | \$500    | 2,500   |     |                  |
| Private Sector            | 11            | 1             | 11             | 16         | 176        | 110.08        | 19,374.08              | 2,500    | 27,500  |     |                  |
| State/Local/Tribal        | 15            | 1             | 15             | 16         | 240        | 48.24         | 11,577.60              | 2,500    | 0       |     |                  |
| Subtotal                  | 31            | 1             | 31             | 10         | 496        | 40.24         | \$33,802.08            | 0        | 30,000  | 27  | \$47,717.37      |
| Application - Eagle Nest  |               | Neete (Eorm   |                | CEP 22     | 450        |               | <i>\$33,002.00</i>     |          | 30,000  | 21  | ψ+1,111.01       |
| Individuals/Households    | 1             | 1             | 13-200-72, 30  | 40         | 40         | \$35.63       | \$1,425.20             | \$500    | 500     |     |                  |
| Private Sector            | 1             | 1             | 1              | 40         | 40         | 110.08        | 4,403.20               | 5,000    | 5,000   |     |                  |
| State/Local/Tribal        | 1             | 1             | 1              | 40         | 40         | 48.24         | 1,929.60               | 0        | 3,000   |     |                  |
| Subtotal                  | 3             | T             | 3              | 40         | 120        | 40.24         | \$7,758.00             |          | 5,500   | 60  | \$10,261.80      |
|                           | -             | Neet (Form 2  |                | FD 22      | 120        |               | \$7,756.00             |          | 5,500   | 00  | \$10,201.80      |
| Amendment - Eagle Nest    | -             |               | -200-72) 50 C  |            | 20         | ቀጋር ርጋ        | <u> </u>               | \$150    | 150     |     |                  |
| Individuals/Households    | 1             | 1             | 1              | 20         | 20         | \$35.63       | \$712.60               |          | 150     |     |                  |
| Private Sector            | 1             | 1             | 1              | 20         | 20         | 110.08        | 2,201.60               | 500      | 500     |     |                  |
| State/Local/Tribal        | 1             | 1             | 1              | 20         | 20<br>60   | 48.24         | 964.80                 | 0        | 0       | 20  | ¢E 100.00        |
| Subtotal                  | 3             | A             | 3              | 70) 50 055 |            |               | \$3,879.00             |          | 650     | 30  | \$5,130.90       |
| Amendment - Eagle/Eagl    |               | -             | s (Form 3-200- | -          |            | <b>#05.00</b> | <b>#0.404.40</b>       | ¢150     | 450     |     |                  |
| Individuals/Households    | 1             | 1             | 1              | 70         | 70         | \$35.63       | \$2,494.10             | \$150    | 150     |     |                  |
| Private Sector            | 1             | 1             | 1              | 70         | 70         | 110.08        | 7,705.60               | 500      | 500     |     |                  |
| State/Local/Tribal        | 13            | 1             | 1              | 70         | 70         | 48.24         | 3,376.80               | 0        | 0       |     | A75 007 00       |
| Subtotal                  | 0             |               | 3              |            | 210        |               | \$13,576.50            |          | 650     | 444 | \$75,937.32      |
| Application - Native Ame  |               |               |                |            |            | ±07.00        | 100.1-                 |          |         |     |                  |
| Individuals/Households    | 1             | 1             | 1              | 2.25       | 2          | \$35.63       | \$80.17                | \$0      | 0       |     |                  |
| Private Sector            | 0             | 1             | 0              | 2.25       | 0          | 33.11         | 0.00                   | 0        | 0       |     |                  |
| State/Local/Tribal        | 4             | 1             | 4              | 2.25       | 9          | 48.24         | 434.16                 | 0        | 0       |     | <b>#0.000.00</b> |
| Subtotal                  | 5             |               | 5              |            | 11         |               | \$514.33               |          | 0       | 8   | \$2,280.40       |
| Application - Native Ame  | -             |               |                |            |            | ±07.00        | ** **                  |          |         |     |                  |
| Individuals/Households    | 0             | 1             | 0              | 5          | 0          | \$35.63       | \$0.00                 | \$0      | 0       |     |                  |
| Private Sector            | 0             | 1             | 0              | 5          | 0          | 33.11         | 0.00                   | 0        | 0       |     |                  |
| State/Local/Tribal        | 10            | 1             | 10             | 5          | 50         | 48.24         | 2,412.00               | 0        | 0       |     | to (00.00        |
| Subtotal                  | 10            |               | 10             |            | 50         |               | \$2,412.00             |          | 0       | 6   | \$3,420.60       |
| Application - Special Pur | •             | •             |                |            |            |               |                        |          |         |     |                  |
| Individuals/Households    | 0             | 1             | 0              | 2.5        | 0          | \$35.63       | \$0.00                 | \$100    | 0       |     |                  |
| Private Sector            | 58            | 1             | 58             | 2.5        | 145        | 33.11         | 4,800.95               | 100      | 5,800   |     |                  |
| State/Local/Tribal        | 0             | 1             | 0              | 2.5        | 0          | 48.24         | 0.00                   | 0        | 0       |     | ** *** **        |
| Subtotal                  | 58            |               | 58             |            | 145        |               | \$4,800.95             |          | 5,800   | 2   | \$6,613.16       |
| Application - Special Pur | •             |               |                |            | _          |               |                        |          |         |     |                  |
| Individuals/Households    | 0             | 1             | 0              | 15         | 0          | \$35.63       | \$0.00                 | \$100    | 0       |     |                  |
| Private Sector            | 103           | 1             | 103            | 15         | 1,545      | 110.08        | 170,073.60             | 100      | 10,300  |     |                  |
| State/Local/Tribal        | 0             | 1             | 0              | 15         | 0          | 48.24         | 0.00                   | 0        | 0       |     |                  |
| Subtotal                  | 103           |               | 103            |            | 1,545      |               | \$170,073.60           |          | 10,300  | 2   | \$11,744.06      |
| Application - Eagle Trans |               |               |                |            |            |               |                        |          |         |     |                  |
| Individuals/Households    | 0             | 1             | 0              | 1          | 0          | \$35.63       | \$0.00                 | \$75     | 0       |     |                  |
| Private Sector            | 2             | 1             | 2              | 1          | 2          | 33.11         | 66.22                  | 75       | 150     |     |                  |
| State/Local/Tribal        | 2             | 1             | 2              | 1          | 2          | 48.24         | 96.48                  | 0        | 0       |     |                  |
| Subtotal                  | 4             |               | 4              |            | 4          |               | \$162.70               |          | 150     | 1   | \$228.04         |
| Annual Report - Scientifi | • •           | Form 3-202-1) |                |            |            |               |                        |          |         |     |                  |
| Individuals/Households    | 70            | 1             | 70             | 1          | 70         | \$35.63       | \$2,494.10             | \$0      | 0       |     |                  |
| Private Sector            | 80            | 1             | 80             | 1          | 80         | 33.11         | 2,648.80               | 0        | 0       |     |                  |
|                           |               |               |                |            |            |               |                        |          |         |     |                  |
| State/Local/Tribal        | 100<br>250    | 1             | 100<br>250     | 1          | 100<br>250 | 48.24         | 4,824.00<br>\$9,966.90 | 0        | 0       | 1   | \$14,252.50      |

| Annual Report - Waterfo        |                 | •              |                |              |       | 407.00           | 4740.00      | 4.0 |   |      |                     |
|--------------------------------|-----------------|----------------|----------------|--------------|-------|------------------|--------------|-----|---|------|---------------------|
| Individuals/Households         | 40              | 1              | 40             | 0.5          | 20    | \$35.63          | \$712.60     | \$0 | 0 |      |                     |
| Private Sector                 | 170             | 1              | 170            | 0.5          | 85    | 33.11            | 2,814.35     | 0   | 0 |      |                     |
| State/Local/Tribal             | 0               | . 1            | 0              | 0.5          | 0     | 48.24            | 0.00         | 0   | 0 |      |                     |
| Subtotal                       | 210             |                | 210            |              | 105   |                  | \$3,526.95   |     | 0 | 0.25 | \$2,993.03          |
| Annual Report - Special        |                 |                |                |              |       |                  |              |     |   |      |                     |
| Individuals/Households         | 450             | 1              | 450            | 1            | 450   | \$35.63          | \$16,033.50  | \$0 | 0 |      |                     |
| Private Sector                 | 1,200           | 1              | 1,200          | 1            | 1,200 | 33.11            | 39,732.00    | 0   | 0 |      |                     |
| State/Local/Tribal             | 200             | 1              | 200            | 1            | 200   | 48.24            | 9,648.00     | 0   | 0 |      |                     |
| Subtotal                       | 1,850           |                | 1,850          |              | 1,850 |                  | \$65,413.50  |     | 0 | 0.25 | \$26,367.13         |
| Annual Report - Rehabi         |                 | •              |                | -            |       | ±07.00           | ** * * * * * |     |   |      |                     |
| Individuals/Households         | 50              | 1              | 50             | 3            | 150   | \$35.63          | \$5,344.50   | \$0 | 0 |      |                     |
| Private Sector                 | 380             | 1              | 380            | 3            | 1,140 | 33.11            | 37,745.40    | 0   | 0 |      |                     |
| State/Local/Tribal             | 12              | . 1            | 12             | 3            | 36    | 48.24            | 1,736.64     | 0   | 0 |      |                     |
| Subtotal                       | 442             |                | 442            |              | 1,326 |                  | \$44,826.54  |     | 0 | 0.5  | \$12,599.21         |
| Annual Report - Special        |                 | ssession for E |                |              |       |                  |              |     |   |      |                     |
| Individuals/Households         | 220             | 1              | 220            | 1.5          | 330   | \$35.63          | \$11,757.90  | \$0 | 0 |      |                     |
| Private Sector                 | 320             | 1              | 320            | 1.5          | 480   | 33.11            | 15,892.80    | 0   | 0 |      |                     |
| State/Local/Tribal             | 0               | 1              | 0              | 1.5          | 0     | 48.24            | 0.00         | 0   | 0 |      |                     |
| Subtotal                       | 540             |                | 540            |              | 810   |                  | \$27,650.70  |     | 0 | 0.5  | \$15,392.70         |
| Annual Report - Special        | -               | me Bird (Form  |                | CFR 21       |       |                  |              |     |   |      |                     |
| Individuals/Households         | 5               | 1              | 5              | 0.5          | 3     | \$35.63          | \$89.08      | \$0 | 0 |      |                     |
| Private Sector                 | 60              | 1              | 60             | 0.5          | 30    | 33.11            | 993.30       | 0   | 0 |      |                     |
| State/Local/Tribal             | 0               | _ 1            | 0              | 0.5          | 0     | 48.24            | 0.00         | 0   | 0 |      |                     |
| Subtotal                       | 65              |                | 65             |              | 33    |                  | \$1,082.38   |     | 0 | 0.25 | \$926.41            |
| <b>Annual Report - Special</b> | Purpose - Mis   | scellaneous (F | orm 3-202-7)   | 50 CFR 21    |       |                  |              |     |   |      |                     |
| Individuals/Households         | 25              | 1              | 25             | 0.5          | 13    | \$35.63          | \$445.38     | \$0 | 0 |      |                     |
| Private Sector                 | 29              | 1              | 29             | 0.5          | 15    | 33.11            | 480.10       | 0   | 0 |      |                     |
| State/Local/Tribal             | 5               | 1              | 5              | 0.5          | 3     | 48.24            | 120.60       | 0   | 0 |      |                     |
| Subtotal                       | 59              | -              | 59             |              | 30    |                  | \$1,046.07   |     | 0 | 0.5  | \$1,681.80          |
| <b>Annual Report - Raptor</b>  | Propagation (I  | Form 3-202-8)  | 50 CFR 21      |              |       |                  |              |     |   |      |                     |
| Individuals/Households         | 25              | 1              | 25             | 1            | 25    | \$35.63          | \$890.75     | \$0 | 0 |      |                     |
| Private Sector                 | 70              | 1              | 70             | 1            | 70    | 33.11            | 2,317.70     | 0   | 0 |      |                     |
| State/Local/Tribal             | 0               | 1              | 0              | 1            | 0     | 48.24            | 0.00         | 0   | 0 |      |                     |
| Subtotal                       | 95              | -              | 95             |              | 95    |                  | \$3,208.45   |     | 0 | 0.3  | \$1,624.79          |
| Annual Report - Depred         | ation (Form 3-  | 202-9) 50 CFF  | R 21           |              |       |                  |              |     |   |      |                     |
| Individuals/Households         | 850             | 1              | 850            | 1            | 850   | \$35.63          | \$30,285.50  | \$0 | 0 |      |                     |
| Private Sector                 | 1,050           | 1              | 1,050          | 1            | 1,050 | 33.11            | 34,765.50    | 0   | 0 |      |                     |
| State/Local/Tribal             | 800             | 1              | 800            | 1            | 800   | 48.24            | 38,592.00    | 0   | 0 |      |                     |
| Subtotal                       | 2,700           | -              | 2,700          |              | 2,700 |                  | \$103,643.00 |     | 0 | 0.75 | \$115,445.25        |
| Annual Report - Special        | State Canada    | Goose Permit   | t (Form 3-202- | 10) 50 CFR   | 22    |                  |              |     |   |      |                     |
| Individuals/Households         | 0               | 1              | 0              | 1            | 0     | \$35.63          | \$0.00       | \$0 | 0 |      |                     |
| Private Sector                 | 0               | 1              | 0              | 1            | 0     | 33.11            | 0.00         | 0   | 0 |      |                     |
| State/Local/Tribal             | 7               | 1              | 7              | 1            | 7     | 48.24            | 337.68       | 0   | 0 |      |                     |
| Subtotal                       | 7               | -              | 7              |              | 7     |                  | \$337.68     |     | 0 | 1.5  | \$598.61            |
| Annual Report - Eagle D        | Depredation (Fe | orm 3-202-11)  | 50 CFR 22      |              |       |                  |              |     |   |      |                     |
| Individuals/Households         | 0               | 1              | 0              | 1            | 0     | \$35.63          | \$0.00       | \$0 | 0 |      |                     |
| Private Sector                 | 42              | 1              | 42             | 1            | 42    | 33.11            | 1,390.62     | 0   | 0 |      |                     |
| State/Local/Tribal             | 40              | 1              | 40             | 1            | 40    | 48.24            | 1,929.60     | 0   | 0 |      |                     |
| Subtotal                       | 82              | -              | 82             |              | 82    |                  | \$3,320.22   |     | 0 | 0.3  | \$1,402.45          |
| Migratory Bird Special F       |                 | ession (Educat |                | couisition a |       | Request (Form 3- |              |     |   | -    | . ,                 |
| Individuals/Households         | 0               | 1              | 0              | 1.5          | 0     | \$35.63          | \$0.00       | \$0 | 0 |      |                     |
| Private Sector                 | 2,500           | 1              | 2,500          | 1.5          | 3,750 | 33.11            | 124,162.50   | 0   | 0 |      |                     |
| State/Local/Tribal             | 100             | 1              | 100            | 1.5          | 150   | 48.24            | 7,236.00     | 0   | 0 |      |                     |
| Subtotal                       | 2,600           |                | 2,600          |              | 3,900 |                  | \$131,398.50 |     | 0 | 0.5  | \$74,113.00         |
|                                | 2,000           |                | 2,000          |              | 0,000 |                  | +=0=,000.00  |     | Ŭ | 0.0  | <i>.</i> , <b>.</b> |

| Annual Report - Eagle Exhibition (Form 3202-13) 50 CFR 3.21, and 22         Image of the second | Annual Report - Eagle Fr        | xhibition (Fo | rm 3-202-13) 50 | CFR 13, 21.   | and 22       |             |          |                |     |     |      |              |
|---|---------------------------------|---------------|-----------------|---------------|--------------|-------------|----------|----------------|-----|-----|------|--------------|
| Private Sector         500         1         500         1         500         3.3.1.1         16.550.0         0           StabbCoal TViste         700         700         820.0         0.0         0.5         150.00         0.0         0.5         150.00         0.0         0.5         100.00         0.5         0.0         831.0         0.0         0.5         0.0         3.00         0.0         0.5         0.0         3.00         0.0         0.5         0.0         3.00         0.0  |                                 |               | •               |               |              | 0           | \$35.63  | \$0.00         | \$0 | 0   |      |              |
| Starbtic         200         1         200         4.8.24         9.840.0         0         0         0.5         5.8.3         0.5         0.5         5.2.9.5.3         0.5         5.2.9.5.3         0.5         5.2.9.5.3         0.5         5.2.9.5.3         0.5         0.5         5.2.9.5.3         0.5         0.5         5.2.9.5.3         0.5         0.5         5.2.9.5.3         0.5 <t< td=""><td></td><td></td><td>—</td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>   |                                 |               | —               | -             |              |             |          |                |     |     |      |              |
| Subbold         700         700         \$26,203,00         0         0.5         \$19,953,50           Annual Report.         Balle Aviar (Mercian Eagle Aviar) (Mercian 3202-14)         0         0.5         \$35,63         \$80,00         \$0         0 <t< td=""><td></td><td></td><td>=</td><td></td><td></td><td></td><td></td><td>,</td><td>-</td><td></td><td></td><td></td></t<>   |                                 |               | =               |               |              |             |          | ,              | -   |     |      |              |
| Annual Report. Native American Eagle Aviary (Form 3202-14) 50 CFR 14         Vertex   |                                 |               |                 |               | -            |             | 40.24    |                |     |     | 0.5  | \$19 953 50  |
| Individual-Prosenotes         0         1         0         0.5         0         \$\$35.63         \$\$0.00         \$0           Statel.coal/Tribal         10         1         0         0.5         5         442.4         241.20         0         0           Statel.coal/Tribal         10         1         20         0.5         5         442.4         241.20         0         0.5         \$282.50           Annual Report. Eagle Take (Monitoring and Reporting): Short-term (Form 3202-15)         50 CFR 22.26         50         524.20         0         0.5         \$282.50           Midduals/Households         20         1         20         40         800         \$35.63         \$28,50.0         50         0           Stable Coal/Tribal         450         1         40         8400         \$38,600         \$38,600         0         0.5         \$28,21.95           Annual Report         Eagle Take (Monitoring and Monitoring Form 3-202.15)         50 CFR 2.27         100.00         \$38,40.48         80         0         0         50         528,21.95           Annual Report         Eagle Take (Monitoring and Monitoring Store Take 2.20         10.77         16         272         10.00         284,42.4         284.04.23   |                                 |               | le Aviary (Form |               | 0 CFR 14     |             |          | +20,200.00     |     | · · | 0.0  | \$20,000,000 |
| Private Sector         0         1         0         0.5         0         3.3.11         0.0.00         0           Stable.oad/Trihal         10         5         54.24         241.20         0         0.5         528.55.05           Stable.oad/Trihal         10         5         54.24         241.20         0         0.5         528.55.05           Annual Report. Fagie Take (Monitoring and Reporture): Short-recerrent (Form 3202.51) Sto CFR 22.57         0 <td></td> <td></td> <td></td> <td></td> <td></td> <td>0</td> <td>\$35.63</td> <td>\$0.00</td> <td>\$0</td> <td>0</td> <td></td> <td></td>   |                                 |               |                 |               |              | 0           | \$35.63  | \$0.00         | \$0 | 0   |      |              |
| Statel (cod/Tribal         10         10         5         5         44.24         24.120         0         0           Annual Report. Eagle Take (Monitoring and Reporting): Short-term (Form 3202-15) sto CFR 22.26         5         52.280,654.00         0         0         5         52.280,654.00         0         0         5         52.82.00         0         0           Private Sector         52.0         1         450         440         18.000         48.24         6863.20.00         0         0         5         52.82.019         5           Annual Report. Eagle Isst Take (Monitoring (Form 3202-16)         5 CFR 22.27         7         1         17         16         960         23.950         23.960         0         0         0         0         0         0         5         53.28.219.95         7         7         1         17         16         960         23.950         0         0         0         53.28.219.95         7         7         1         17         16         970         23.950         10         20.06         23.950         10         20.07         23.950         10         20.07         23.950         10         10.08         23.920         10         20.920         10   |                                 | 0             | 1               |               |              |             |          |                |     |     |      |              |
| Subtand         10         10         5         \$241.20         0         0.5         \$228.05           Annual Report Lagle Take (Monitoring and Reporting): Stort/strem (Form 3:20:315)         50C ER 22.26         50   |                                 |               |                 |               |              |             |          |                |     |     |      |              |
| Annual Report - Eagle Take (Monitoring and Reporting): Short-term (Grom 3-202-15) 50 CFR 22.26         Stafa 6.3         \$22,85,94.00         \$0           Private Sector         5.20         1         520         400         20,800         \$22,85,94.00         \$0         \$0           StateLocalTribal         450         1         450         400         48.24         968,932.00         \$0         \$0           StateLocalTribal         990         990         39,800         48.24         968,432.00         \$0         \$0         \$52,229.95           Annual Report - Eagle Net: Me and Monitoring (Form 3-202.17)         50         FT22         110.08         29,314.64,482.00         \$0 <td>-</td> <td></td> <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td> <td>-</td> <td></td> <td>0.5</td> <td>\$285.05</td>   | -                               |               |                 | -             |              |             |          |                | -   |     | 0.5  | \$285.05     |
| Individuals/Households         20         1         20         40         800         953 6.3         \$28,504.00         90           Virate Sector         520         1         520         440         20,800         110.08         228,864.00         0           State/Local/Tribal         450         1         450         460         482,800         0         0.5         \$228,964.00           Annual Report - Eagle Nest Take and Monitoring (Form 3-202-16)         50 CFR 22.27         7         110.08         23,126,480.00         0         0         0.5         \$228,219.95           Annual Report - Eagle Nest Take and Monitoring (Form 3-202-17)         50 CFR 22.27         49.24         13,321.28         0         0           State/Local/Tribal         17         1         17         6         272         49.24         3,321.28         0   |                                 | ake (Monitori | ng and Reportin | ng): Short-te | rm (Form 3-2 | 02-15) 50 C | FR 22.26 |                |     |     |      |              |
| StateLocal/Timbal         450         40         10,000         48.8         868,320.00         0           Subtroit         39,000         39,600         \$3,166,488.00         0         0.5         \$28,219.9           Annual Report - Eagle Nest Take and Monitoring (FUT = 3202-16)         50 CFR 22.2         0         0.5         \$28,219.9           Individual Shouseholds         17         1         16         272         44.24         13,121.28         0         0           StateLocal/Timal         17         1         17         640         53,663         50,00         50           Avian Injury/Mortality Report (Form 3-202-27)         00 CFR 22-27         44.24         13,121.28         0         0         51,41.020           Avian Injury/Mortality Report (Form 3-202-37)         00 CFR 22-3         6         1,500         100.08         165,120.00         0         0.5         \$1,4,25.5           Molvidual Shouseholds         0         1         0.0         6         1,500         48.24         72,360.00         0         0.5         \$1,4,25.5           StateLocal/Timbal         250         0         0.25         3,160         33,11         10,42,96.5         0         0.17         \$125,022.93 <tr< td=""><td></td><td></td><td>• •</td><td></td><td></td><td></td><td></td><td>\$28,504.00</td><td>\$0</td><td>0</td><td></td><td></td></tr<>   |                                 |               | • •             |               |              |             |          | \$28,504.00    | \$0 | 0   |      |              |
| StateLocal/Tibal         450         40         18,000         482,82,800         0         0           StateLocal/Tibal         990         39,600         \$3,166,480,00         0         0.5         \$28,219,95           Annual Report - Eagle Nest Take and Monitoring (Form 3-202-15)         50 CFR 22.27         V         0         0.5         \$28,219,95           MindutalSHouseholds         6         16         96         \$255,63         \$3,420,48         0         0         528,219,95           StateLocal/Tibal         17         1         17         16         272         48,02         13,212,85         0         0         0.5         \$1,140,20           StateLocal/Tibal         40         6         0         \$255,63         \$0,00         0         0.5         \$1,140,20           MindutalSHouseholds         0         1         0         6         0         \$35,63         \$0,00         0         0.5         \$1,140,20           StateLocal/Tibal         250         1         250         1,500         48,24         72,360,00         0         0.5         \$1,4,25,50           StateLocal/Tibal         500         1         0.50         225         53,156,31         31,11  | Private Sector                  | 520           | 1               | 520           | 40           | 20,800      | 110.08   | 2,289,664.00   | 0   | 0   |      |              |
| Janual Report - Eagle Nest Take and Monitoring (Form 3-202-16)         50 CFR 22.27         Vision 1000         State Incaling Information 1000         State Incaling Informa  | State/Local/Tribal              | 450           |                 | 450           |              |             |          |                | 0   | 0   |      |              |
| Individual/Households         6         16         96         935.63         33.420.48         50         0           StateLocal/Tribal         17         1         17         16         272         110.08         29.941.76         0         0           StateLocal/Tribal         17         1         16         272         48.24         13.121.28         0         0           Avian Injury/Mortality Report (Form 3-202-17)         50 CFR 22         -         640         535.63         30.00         \$50         0         53.14.0.20           Private Sector         250         1         250         6         1.500         48.24         72.360.00         0         0         0         53.14.252.50           Notice of Transfer or Sale of Migratory Waterbowl (Form 3-186)         50 CFR 22         500         3.255         \$33.11         104.296.50         0         0         0         53.14.252.50           Notice of Transfer or Sale of Migratory Waterbowl (Form 3-186)         50 CFR 22         \$300         0.25         \$3.15         33.11         104.296.50         0         0         0         0         0         0         53.257         0         0         17         \$125,022.93         0         14.24  | -<br>Subtotal                   | 990           | -               | 990           |              | 39,600      |          | \$3,186,488.00 |     | 0   | 0.5  | \$28,219.95  |
| Individual/Households         6         16         96         935.63         33.420.48         50         0           StateLocal/Tribal         17         1         17         16         272         110.08         29.941.76         0         0           StateLocal/Tribal         17         1         16         272         48.24         13.121.28         0         0           Avian Injury/Mortality Report (Form 3-202-17)         50 CFR 22         -         640         535.63         30.00         \$50         0         53.14.0.20           Private Sector         250         1         250         6         1.500         48.24         72.360.00         0         0         0         53.14.252.50           Notice of Transfer or Sale of Migratory Waterbowl (Form 3-186)         50 CFR 22         500         3.255         \$33.11         104.296.50         0         0         0         53.14.252.50           Notice of Transfer or Sale of Migratory Waterbowl (Form 3-186)         50 CFR 22         \$300         0.25         \$3.15         33.11         104.296.50         0         0         0         0         0         0         53.257         0         0         17         \$125,022.93         0         14.24  | Annual Report - Eagle N         | est Take and  | Monitoring (Fo  | rm 3-202-16)  | 50 CFR 22.2  | 27          |          |                |     |     |      |              |
| Private Sector         17         1         17         16         272         110.08         29.941.76         0           Subtoral         40         640         \$46,483.52         0         0.5         \$1,140.20           Avian Injury/Mortality Report (Form 3-202-17)         50 CFR 22          50         \$46,483.52         0         0.5         \$1,140.20           Avian Injury/Mortality Report (Form 3-202-17)         50 CFR 22         50         6         1,500         \$32.563         \$0.00         \$0         0         0           Private Sector         250         1         250         6         1,500         48.24         72.360.00         0         0         514.522.50           Notice of Transfer OSale Of Migratory Waterfow (Form 3-186)         50 CFR 21           33.11         104.296.50         0         0         0         514.522.50           Notice of Transfer OSale Of Migratory Waterfow (Form 3-186)         50 CFR 21           32.25         \$106,968.75         0         0.17         \$125,022.93           State/Local/Tribal         1,050         2,200         0.25         0         48.24         0.00         0         0         50         50         50.63   |                                 |               |                 |               |              |             | \$35.63  | \$3,420.48     | \$0 | 0   |      |              |
| Subtoral         40         640         \$46,483.52         0         0.5         \$1,140.20           Avian Injury/Mortality Report (Form 3-202-17) 50 CFR 22         1         0         6         0         \$35.63         \$0.00         \$0           |                                 |               |                 |               | 16           |             |          |                |     | 0   |      |              |
| Avian Injury/Mortality Report (Form 3-202-17) 50 CFR 22         Individuals/Households         0         10000         1000 <t< td=""><td>State/Local/Tribal</td><td>17</td><td>1</td><td>17</td><td>16</td><td>272</td><td>48.24</td><td>13,121.28</td><td>0</td><td>0</td><td></td><td></td></t<>   | State/Local/Tribal              | 17            | 1               | 17            | 16           | 272         | 48.24    | 13,121.28      | 0   | 0   |      |              |
| Individuals/Households         0         1         0         6         0         \$35.63         \$0.00         \$0         0           Private Sector         250         1         250         6         1.500         10.08         165.120.00         0         0           Subtoal         500         500         3.000         \$237.480.00         0         0         0.5         \$14,252.50           Notice of Transfer of Sale of Migratory Waterfow (Form 3186) 50 CF 21         T         535.63         \$2,672.25         \$0         0         0         0         0         0         0.05         \$14,252.50           Notice of Transfer of Sale of Migratory Waterfow (Form 3186) 50 CF 21         T         T         104,296.50         0         0         0         2.25         \$100.987.75         \$125,022.93           Quarterf Report - Migratory Bird Acquisition and Disposition (Form 3186) 50 CF 21         109.05         3.25         \$100.987.75         \$100.00         0         0         1.7         \$125,022.93           Quarterf Report - Migratory Bird Acquisition and Disposition (Form 3186) 50 CF 21         100         650         \$325.63         \$160.987.80         \$0         0         2.5         \$265,666.60           Private Sector         0         1 <td>Subtotal</td> <td>40</td> <td>_</td> <td>40</td> <td></td> <td>640</td> <td></td> <td>\$46,483.52</td> <td></td> <td>0</td> <td>0.5</td> <td>\$1,140.20</td>   | Subtotal                        | 40            | _               | 40            |              | 640         |          | \$46,483.52    |     | 0   | 0.5  | \$1,140.20   |
| Private Sector         250         1         250         6         1,500         165,120,00         0           State/Local/Tribal         250         1         250         6         1,500         48,24         72,360,00         0         0           State/Local/Tribal         500         500         3,000         \$237,480,00         0         0.5         \$14,252,50           Notice of Transfer or Sale of Migratory Water/owl (Form 3:186)         50 C FR 21         -         -         -         -         -         -         510         2         300         0.25         75         \$35,63         \$2,672,25         \$0           | Avian Injury/Mortality Re       | port (Form 3  | -202-17) 50 CFI | R 22          |              |             |          |                |     |     |      |              |
| Private Sector         250         1         250         6         1,500         165,120,00         0           State/Local/Tribal         250         1         250         6         1,500         48,24         72,360,00         0         0           State/Local/Tribal         500         500         3,000         \$237,480,00         0         0.5         \$14,252,50           Notice of Transfer or Sale of Migratory Water/owl (Form 3:186)         50 C FR 21         -         -         -         -         -         -         510         2         300         0.25         75         \$35,63         \$2,672,25         \$0           |                                 | • •           | •               |               | 6            | 0           | \$35.63  | \$0.00         | \$0 | 0   |      |              |
| State/Local/Tribal         250         6         1,500         48.24         72,360.00         0         0           Subtotal         500         500         3,000         \$237,480.00         0         0.5         \$14,252.50           Notice of Transfer or Sale of Migratory Waterfowl (Form 3-188) 50 CFR 21         Individuals/Households         150         2         300         0.25         7.5         \$35.63         \$2,672.25         \$0         0         0           Private Sector         900         14         12,600         0.25         3.11         104.296.50         0         0         0.17         \$125,022.93           Quarterly Report - Migratory Bird Acquisition and Disposition (Form 3-186a) 50 CFR 21         0         0.25         \$106,968.75         0         0         0.17         \$125,022.93           Quarterly Report - Migratory Bird Acquisition and Disposition (Form 3-186a) 50 CFR 21         0         0         0.25         \$106,968.75         0         0         0.17         \$125,022.93           Quarterly Report - Migratory Bird Acquisition and Disposition (Form 3-186a) 50 CFR 21         1         0         0.25         0         3.211         0.000         0         0         0         0         0.25         5265,666.60         Prevalsector         0 <td></td> <td>250</td> <td>1</td> <td>250</td> <td>6</td> <td>1,500</td> <td>110.08</td> <td>165,120.00</td> <td>0</td> <td>0</td> <td></td> <td></td>  |                                 | 250           | 1               | 250           | 6            | 1,500       | 110.08   | 165,120.00     | 0   | 0   |      |              |
| Subtotal         500         3,000         \$237,480.00         0         0.5         \$14,252.50           Notice of Transfer or Sale of Migratory Waterfowl (Form 3:186) 50 CFR 21.<br>Individuals/Households         150         2         300         0.25         75         \$35.63         \$2,672.25         \$0         0           Private Sector         900         1.4         12,600         0.25         75         \$33.11         104.296.50         0         0           Subtotal         1,050         0         0.25         0         48.24         0.00            |                                 |               | 1               |               |              |             |          |                | 0   | 0   |      |              |
| Individuals/Households       150       2       300       0.25       75       \$35.63       \$2,672.25       \$0       0         Private Sector       900       14       12,600       0.25       3,150       33.11       104,296.50       0       0         State/Local/Tribal       0       0       0.25       0       48.24       0.00       0       0         Quarterly Report - Migratory Bird Acquisition and Disposition (Form 3-186a)       50 CFR 21       0       0.17       \$125,022.93         Quarterly Report - Migratory Bird Acquisition and Disposition (Form 3-186a)       50 CFR 21       0       33.11       0.00       0       0         Individuals/Households       4,660       4       84,640       0.25       0       33.11       0.00       0       0         State/Local/Tribal       0       4,660       4,660       \$35.63       \$166,035.80       \$00       0       0.25       \$265,666.60       9         Pre-construction Monitoring Surveys       50 CFR 22.26       (IC Transferred from 1018-0167)       9       9       906,262.50       0       0       0       \$31,682.40         Pre-construction Monitoring Surveys       0       1       0       650       0       \$325,63  | Subtotal                        | 500           | -               | 500           |              | 3,000       |          | \$237,480.00   |     | 0   | 0.5  | \$14,252.50  |
| Individuals/Households       150       2       300       0.25       75       \$35.63       \$2,672.25       \$0       0         Private Sector       900       14       12,600       0.25       3,150       33.11       104,296.50       0       0         State/Local/Tribal       0       0       0.25       0       48.24       0.00       0       0         Quarterly Report - Migratory Bird Acquisition and Disposition (Form 3-186a)       50 CFR 21       0       0.17       \$125,022.93         Quarterly Report - Migratory Bird Acquisition and Disposition (Form 3-186a)       50 CFR 21       0       33.11       0.00       0       0         Individuals/Households       4,660       4       84,640       0.25       0       33.11       0.00       0       0         State/Local/Tribal       0       4,660       4,660       \$35.63       \$166,035.80       \$00       0       0.25       \$265,666.60       9         Pre-construction Monitoring Surveys       50 CFR 22.26       (IC Transferred from 1018-0167)       9       9       906,262.50       0       0       0       \$31,682.40         Pre-construction Monitoring Surveys       0       1       0       650       0       \$325,63  | Notice of Transfer or Sal       | e of Migrator | y Waterfowl (Fo | orm 3-186) 5  | 0 CFR 21     |             |          |                |     |     |      |              |
| State/Local/Tribal         0         0         0.25         0         48.24         0.00         0         0           Subtolal         1,050         12,900         0         3,225         \$106,968.75         0         0         0.17         \$125,022.93           Quarterly Report - Migratory Bird Acquisition and US         0         0         0         0.17         \$125,022.93           Quarterly Report - Migratory Bird Acquisition and US         0         0.25         0         \$33.11         0.00         0         0           Private Sector         0         4         0         0.25         0         48.24         0.00         0         0           Subtola         4.660         18,640         0.25         0         48.24         0.00         0         0         0.25         \$265,666.60           Pre-construction Monitoring Surveys 50 CFR 22.26         (C Transferret trom 101/1000000000000000000000000000000000   |                                 | -             |                 |               |              | 75          | \$35.63  | \$2,672.25     | \$0 | 0   |      |              |
| Subtotal         1,050         12,900         3,225         \$106,968.75         0         0.17         \$125,022.93           Quarterly Report - Migratory Bird Acquisition and Disposition (Form 3-186a) 50 CFR 21               Individuals/Households         4,660         4         18,640         0.25         0         33.11         0.00         0           State/Local/Tribal         0         4         0         0.25         0         48.24         0.00         0         0           Subtotal         4,660         18,640         4,660         \$166,035.80         0         0         0.25         \$265,666.60           Pre-construction Monitoring Surveys 50 CFR 22.26 (IC Transferred from 1018-0167)         Individuals/Households         0         15         9,750         92,95         906,262.50         0         0         0           State/Local/Tribal         0         15         9,750         92,95         906,262.50         0         16         \$13,682.40           Pre-construction of Eagle Conservation Plan 50 CFR 22.26 (IC Transferred from 1018-0167)         Individuals/Households         0         10         300         0         \$35,63         \$0.00         0         0         \$16         \$13,682.40   | Private Sector                  | 900           | 14              | 12,600        | 0.25         | 3,150       | 33.11    | 104,296.50     | 0   | 0   |      |              |
| Quarterly Report - Migratory Bird Acquisition and Disposition (Form 3-186a) 50 CFR 21           Individuals/Households         4,660         4         18,640         0.25         0         33.11         0.000         0           Private Sector         0         4         0         0.25         0         33.11         0.000         0           State/Local/Tribal         0         4         0         0.25         0         48.24         0.000         0           State/Local/Tribal         4,660         18,640         4,660         \$166,035.80         \$0         0           Preconstruction Monitoring Surveys 50 CFR 22.26         (IC Transferred from 1018-0167)         \$166,035.80         \$0         0           Individuals/Households         0         15         1         15         650         9,750         99.295         906,262.50         0         0           Subtotal         15         1         0         650         0         48.24         0.00         0         313,682.40           Private Sector         15         1         0         300         0         \$335,63         \$0.00         0         16         \$13,682.40           Subtotal         15         1         <  | State/Local/Tribal              | 0             | 0               | 0             | 0.25         | 0           | 48.24    | 0.00           | 0   | 0   |      |              |
| Individuals/Households       4,660       4       18,640       0.25       4,660       \$35.63       \$166,035.80       \$0       0         Private Sector       0       4       0       0.25       0       33.11       0.00       0       0         State/Local/Tribal       0       4       0       0.25       0       48.24       0.00       0       0         Subtotal       4,660       18,640       4,660       \$166,035.80       \$0       0       0.25       \$265,666.60         Pre-construction Monitoring Surveys       50 CFR 22.26       (IC Transferred from 1018-0167)       0       \$166,035.80       \$0       0       0.25       \$265,666.60         Pre-construction Monitoring Surveys       50 CFR 22.26       (IC Transferred from 1018-0167)       0       \$35.63       \$0.00       \$0       0       0         State/Local/Tribal       0       15       1       15       9,750       \$906,262.50       0       0       16       \$13,682.40         Preparation of Eagle Conservation Plan 50 CFR 22.56       (IC Transferred from 1018-0167)       0       300       4,500       \$90,626.50       0       0       31,682.40         Private Sector       15       1       0   | Subtotal                        | 1,050         | -               | 12,900        |              | 3,225       |          | \$106,968.75   |     | 0   | 0.17 | \$125,022.93 |
| Private Sector         0         4         0         0.25         0         33.11         0.00         0           State/Local/Tribal         0         4.60         0.25         0         48.24         0.00         0         0           Subtotal         4.60         18.640         4.660         \$166,035.80         0         0         0         0         5265,666.60           Pre-construction Monitoring Surveys         50 CFR 22.26         (IC Transferret from 1018-0167)         V         V         0         50.57         5265,666.60         0         \$35.63         \$0.00         \$0         0         5265,666.60         0         535.63         \$0.00         \$0         0         0         5265,666.60         0         \$35.63         \$0.00         \$0         0         5265,70         0         0         0         535.63         \$0.00         0         0         \$13,682.40           Subtotal         15         1         0         300         0         \$35.63         \$0.00         0         60         \$13,682.40           Private Sector         15         1         0         300         0         \$35.63         \$0.00         0         0         15         \$12  | Quarterly Report - Migra        | tory Bird Acc | uisition and Di | sposition (Fo | rm 3-186a)   | 50 CFR 21   |          |                |     |     |      |              |
| State/Local/Tribal         0         4         0         0.25         0         48.24         0.00         0           Subtotal         4,60         18,640         4,600         \$166,035.80         0         0.25         \$265,666.00           Pre-construction Monitor us urveys         50 CFR 22.26         (U Transferret from 102 + U = U = U = U = U = U = U = U = U = U  |                                 |               | -               |               | -            |             | \$35.63  | \$166,035.80   | \$0 | 0   |      |              |
| Subtotal         4,660         18,640         4,660         \$166,035.80         0         0.25         \$265,666.60           Pre-construction Monitoring Surveys 50 CFR 22.26         (IC Transferred from 1018-0167)           Individuals/Households         0         1         0         650         0         \$335,63         \$0.00         \$0         0           Private Sector         15         1         15         650         9,750         92.95         906,262.50         0         0         0           State/Local/Tribal         0         15         15         9,750         92.95         906,262.50         0         0         0           Preparation of Eagle Conservation Plan 50 CFR 22.26 (IC Transferred from 1018-0167)         15         9,750         \$255         418,275.00         0         0         0         \$13,682.40           Preparation of Eagle Conservation Plan 50 CFR 22.26 (IC Transferred from 1018-0167)         15         1         0         300         0         \$335,63         \$0.00         0         0         16         \$13,682.40           Preparation of Eagle Conservation Plan 50 CFR 22.26 (IC Transferred from 1018-0167)         15         1         0         300         0         4,500         \$418,275.00         0         0 <td>Private Sector</td> <td>0</td> <td>4</td> <td>0</td> <td>0.25</td> <td>0</td> <td>33.11</td> <td>0.00</td> <td>0</td> <td>0</td> <td></td> <td></td>   | Private Sector                  | 0             | 4               | 0             | 0.25         | 0           | 33.11    | 0.00           | 0   | 0   |      |              |
| Pre-construction Monitoring Surveys 50 CFR 22.26 (IC Transferred from 1018-0167)         Individuals/Households         0         1         0         650         0         \$\$35,63         \$\$0,000         \$\$0         0           Private Sector         15         1         15         650         9,750         92.95         906,262.50         0         0           State/Local/Tribal         0         1         0         650         0         48.24         0.00         0         0           Subtotal         15         15         15         9,750         \$906,262.50         0         0         650.82.43           Preparation of Eagle Conservation Plan 50 CFR 22.26 (IC Transferred from 1018-0167)         15         1         0         300         0         \$335.63         \$0.00         0         16         \$13,682.40           Preparation of Eagle Conservation Plan 50 CFR 22.26 (IC Transferred from 1018-0167)         Individuals/Households         0         300         0         \$335.63         \$0.00         0         60         \$13,682.40           Individuals/Households         0         15         300         4,500         92.95         418,275.00         0         0         512,827.25           Eagle Mortality Monitoring and Reporting 50 CFR 22.26  | State/Local/Tribal              | 0             | 4               | 0             | 0.25         | 0           | 48.24    | 0.00           | 0   | 0   |      |              |
| Individuals/Households       0       1       0       650       0       \$35.63       \$0.00       \$0       0         Private Sector       15       1       15       650       9,750       92.95       906,262.50       0       0         State/Local/Tribal       0       10       650       0       48.24       0.00       0       0         Subtotal       15       15       15       9,750       \$906,262.50       0       0       \$13,682.40         Preparation of Eagle Conservation Plan 50 CFR 22.26 (IC Transferred from 1018-0167)       9,750       \$906,262.50       0       16       \$13,682.40         Private Sector       15       1       0       300       0       \$35.63       \$0.00       \$0       0         Private Sector       15       1       0       300       4,500       92.95       418,275.00       0       0         State/Local/Tribal       0       15       300       4,500       92.95       418,275.00       0       0         Subtotal       15       1       15       4,500       \$418,275.00       0       0       5       \$12,827.25         Eagle Mortality Monitorius and Reporting So CFR 22.56 (IC Transferred fr   | Subtotal                        | 4,660         | _               | 18,640        |              | 4,660       |          | \$166,035.80   |     | 0   | 0.25 | \$265,666.60 |
| Private Sector         15         1         15         650         9,750         996,262.50         0         0           State/Local/Tribal         0         10         650         0         48.24         0.00         0         0           Subtotal         15         15         16         9,750         48.24         0.00         0         0           Subtotal         15         15         15         9,750         9,750         \$906,262.50         0         0         \$906,262.50         0         0         \$16         \$13,682.40           Preparation of Eagle Conservation Plan SO CFR 22.26 (IC Transferred from US-000000000000000000000000000000000000   | <b>Pre-construction Monito</b>  | ring Surveys  | 50 CFR 22.26    | (IC Transfer  | ed from 101  | 8-0167)     |          |                |     |     |      |              |
| State/Local/Tribal         0         1         0         650         0         48.24         0.00         0         0           Subtotal         15         15         9,750         \$906,262.50         0.0         16         \$13,682.40           Preparation of Eagle Conservation Plan SO CFR 22.25         (IC Transferred from 1)B-0167         0         \$\$00         \$\$00         \$\$00         0         16         \$\$13,682.40           Individuals/Households         0         1         0         300         0         \$\$35.63         \$\$0.00         \$\$00         0           Private Sector         15         1         15         300         4,500         92.95         418,275.00         0         0           Subtotal         0         15         15         10         300         0         48.24         0.00         0         0           Subtotal         0         15         4,500         92.95         418,275.00         0         0         0         \$\$12,827.25           Eagle Mortality Monitorius and Reportius SO CFR 22.26 (IC Transferred from 10B-0167)         15         4,500         \$\$00         \$\$00         \$\$0         0         \$\$12,827.25           Individuals/Households         <  |                                 |               |                 |               |              |             | \$35.63  | \$0.00         | \$0 | 0   |      |              |
| Subtotal         15         15         9,750         \$906,262.50         0         16         \$13,682.40           Preparation of Eagle Conservation Plan 50 CFR 22.26         (IC Transferred from 1018-0167)         Individuals/Households         0         1         0         300         0         \$35.63         \$0.00         \$0         0           Private Sector         15         1         15         300         4,500         92.95         418,275.00         0         0           State/Local/Tribal         0         15         15         4,500         \$418,275.00         0         0         15         \$12,827.25           Eagle Mortality Monitoring and Reporting 50 CFR 22.26         (IC Transferred from 1018-0167)         15         4,500         \$35.63         \$0.00         0         15         \$12,827.25           Eagle Mortality Monitoring and Reporting 50 CFR 22.26         (IC Transferred from 1018-0167)         15         1         0         400         \$35.63         \$0.00         0         15         \$12,827.25           Eagle Mortality Monitoring and Reporting 50 CFR 22.26         (IC Transferred from 1018-0167)         10         \$400         \$35.63         \$0.00         0         0           Individuals/Households         0         1  | Private Sector                  | 15            | 1               | 15            | 650          | 9,750       | 92.95    | 906,262.50     | 0   | 0   |      |              |
| Preparation of Eagle Conservation Plan 50 CFR 22.26 (IC Transferred from 1018-0167)           Individuals/Households         0         1         0         300         \$35.63         \$0.00         \$0         \$0           Private Sector         15         1         15         300         4,500         92.95         418,275.00         0         0           State/Local/Tribal         0         1         0         300         0         48.24         0.00         0         \$15         \$12,827.25           Subtotal         15         15         15         4,500         0         0         \$15         \$12,827.25           Eagle Mortality Monitoring and Reporting 50 CFR 22.26 (IC Transferred from 1018-0167)         15         1.0         4,500         \$15         \$15,827.25           Individuals/Households         0         1         0         400         \$35.63         \$0.00         \$0         \$15,827.25           Individuals/Households         0         1         0         400         \$35.63         \$0.00         \$0         \$16,827.50         \$15         \$16,827.50         \$16,827.50         \$16,827.50         \$16,827.50         \$16,827.50         \$16,827.50         \$16,827.50         \$16,827.50         \$16,827.50         \$16   | State/Local/Tribal              | 0             | 1               | 0             | 650          | 0           | 48.24    | 0.00           | 0   | 0   |      |              |
| Individuals/Households       0       1       0       300       0       \$\$35.63       \$0.00       \$0       0         Private Sector       15       1       15       300       4,500       92.95       418,275.00       0       0         State/Local/Tribal       0       1       0       300       0       48.24       0.00       0       0         Subtotal       15       15       16       4,500       \$418,275.00       0       0       15       \$12,827.25         Eagle Mortality Monitoring and Reporting 50 CFR 22.26       (IC Transferred from 1018-0167)       15       1.0       \$400       \$35.63       \$0.00       \$0       0       15       \$12,827.25         Individuals/Households       0       1       0       400       0       \$35.63       \$0.00       \$0       0       15       \$12,827.25         Individuals/Households       0       1       0       400       0       \$35.63       \$0.00       \$0       0       15       \$12,827.25         Individuals/Households       0       1       0       400       0       \$35.63       \$0.00       \$0       0         State/Local/Tribal       0       1   | Subtotal                        | 15            | _               | 15            |              | 9,750       |          | \$906,262.50   |     | 0   | 16   | \$13,682.40  |
| $ \begin{array}{c c c c c c c c c c c c c c c c c c c $   | Preparation of Eagle Cor        | nservation Pl | an 50 CFR 22.2  | 6 (IC Transf  | erred from 1 | 018-0167)   |          |                |     |     |      |              |
| State/Local/Tribal       0       1       0       300       0       48.24       0.00       0       0         Subtotal       15       15       4500 $48.24$ 0.00       0       15       \$12,827.25         Eagle Mortality Monitoring and Reporting 50 CFR 22-26 (IC Transferred from 1018-0167)       0 $4500$ $4500$ $535.63$ $50.00$ $50$ 0       15       \$12,827.25         Individuals/Households       0       1       0       400       0       \$35.63       \$0.00       \$0       0 $4500$  | Individuals/Households          | 0             | 1               | 0             | 300          | 0           | \$35.63  | \$0.00         | \$0 | 0   |      |              |
| Subtotal       15       15       4,500       \$418,275.00       0       15       \$12,827.25         Eagle Mortality Monitoring and Reporting 50 CFR 22.26       (IC Transferred from 1018-0167)       50       50       50       50       50       512,827.25         Individuals/Households       0       1       0       400       0       \$35.63       \$0.00       \$0       0         Private Sector       15       1       15       400       6,000       110.08       660,480.00       0       0       5tate/Local/Tribal       0       1       0       400       0       48.24       0.00       0       0   | Private Sector                  | 15            | 1               | 15            | 300          | 4,500       | 92.95    | 418,275.00     | 0   | 0   |      |              |
| Eagle Mortality Monitoring and Reporting 50 CFR 22.26         (IC Transferred from 1018-0167)           Individuals/Households         0         1         0         400         0         \$35.63         \$0.00         \$0         0           Private Sector         15         1         15         400         6,000         110.08         660,480.00         0         0           State/Local/Tribal         0         1         0         400         0         48.24         0.00         0         0  | State/Local/Tribal              |               | 1               |               | 300          |             | 48.24    | 0.00           | 0   |     |      |              |
| Individuals/Households       0       1       0       400       0       \$35.63       \$0.00       \$0       0         Private Sector       15       1       15       400       6,000       110.08       660,480.00       0       0         State/Local/Tribal       0       1       0       400       0       48.24       0.00       0       0  | Subtotal                        | 15            | _               | 15            |              | 4,500       |          | \$418,275.00   |     | 0   | 15   | \$12,827.25  |
| Private Sector         15         1         15         400         6,000         110.08         660,480.00         0         0         0           State/Local/Tribal         0         1         0         400         0         48.24         0.00         0         0  | <b>Eagle Mortality Monitori</b> | ng and Repoi  | rting 50 CFR 22 | .26 (IC Tran  | sferred from | 1018-0167)  |          |                |     |     |      |              |
| State/Local/Tribal 0 1 0 400 0 48.24 0.00 0 0   | Individuals/Households          | 0             | 1               | 0             | 400          | 0           | \$35.63  | \$0.00         | \$0 | 0   |      |              |
| State/Local/Tribal0 10 400 0 48.24 0.00 0 0   | Private Sector                  | 15            | 1               | 15            | 400          | 6,000       | 110.08   | 660,480.00     | 0   | 0   |      |              |
| Subtotal         15         15         6,000         \$660,480.00         0         10         \$8,551.50   | State/Local/Tribal              | 0             | 1               | 0             | 400          |             | 48.24    | 0.00           | 0   | 0   |      |              |
|   | Subtotal                        | 15            | _               | 15            |              | 6,000       |          | \$660,480.00   |     | 0   | 10   | \$8,551.50   |

| Reporting Take of Eagle        | s 50 CFR 22.    | 27 (IC Transfe                  | rred from 101  | .8-0167)      |               |               |                |       |             |     |                |
|--------------------------------|-----------------|---------------------------------|----------------|---------------|---------------|---------------|----------------|-------|-------------|-----|----------------|
| Individuals/Households         | 0               | 1                               | 0              | 2             | 0             | \$35.63       | \$0.00         | \$0   | 0           |     |                |
| Private Sector                 | 10              | 1                               | 10             | 2             | 20            | 33.11         | 662.20         | 0     | 0           |     |                |
| State/Local/Tribal             | 0               | 1                               | 0              | 2             | 0             | 48.24         | 0.00           | 0     | 0           |     |                |
| Subtotal                       | 10              | -                               | 10             |               | 20            |               | \$662.20       |       | 0           | 1   | \$570.10       |
| <b>Reporting Take of Threa</b> | tened and En    | dangered Spe                    | cies 50 CFR 2  | 22.27 (IC Tra | ansferred fro | om 1018-0167) |                |       |             |     |                |
| Individuals/Households         | 0               | 1                               | 0              | 2             | 0             | \$35.63       | \$0.00         | \$0   | 0           |     |                |
| Private Sector                 | 1               | 1                               | 1              | 2             | 2             | 33.11         | 66.22          | 0     | 0           |     |                |
| State/Local/Tribal             | 0               | 1                               | 0              | 2             | 0             | 48.24         | 0.00           | 0     | 0           |     |                |
| Subtotal                       | 1               |                                 | 1              |               | 2             |               | \$66.22        |       | 0           | 1   | \$57.01        |
| 5 Year Permit Reviews**        | 50 CFR 22.2     | 6 <mark>(c)(7)(ii)</mark> (IC T | ransferred fro | om 1018-016   | 7)            |               |                |       |             |     |                |
| Individuals/Households         | 0               | 1                               | 0              | 30            | 0             | \$35.63       | \$0.00         | \$0   | 0           |     |                |
| Private Sector                 | 4               | 1                               | 4              | 30            | 120           | 110.08        | 13,209.60      | 8,000 | 32,000      |     |                |
| State/Local/Tribal             | 0               | _ 1                             | 0              | 30            | 0             | 48.24         | 0.00           | 0     | 0           |     |                |
| Subtotal                       | 4               |                                 | 4              |               | 120           |               | \$13,209.60    |       | 32,000      | 100 | \$22,804.00    |
| Eagle Recovery Tag (For        | rm 3-2480)   50 | CFR 22 (New                     | ()             |               |               |               |                |       |             |     |                |
| Individuals/Households         | 0               | 2                               | 0              | 0.25          | 0             | \$35.63       | \$0.00         | \$0   | 0           |     |                |
| Private Sector                 | 0               | 2                               | 0              | 0.25          | 0             | 33.11         | 0.00           | 0     | 0           |     |                |
| State/Local/Tribal             | 250             | 2                               | 500            | 0.25          | 125           | 48.24         | 6,030.00       | 0     | 0           |     |                |
| Subtotal                       | 250             |                                 | 500            |               | 125           |               | \$6,030.00     |       | 0           | 1   | \$28,505.00    |
| <b>Reporting - Native Amer</b> | ican Eagle Ta   | ke 50 CFR 22.                   | 22 (New)       |               |               |               |                |       |             |     |                |
| Individuals/Households         | 0               | 1                               | 0              | 1             | 0             | \$35.63       | \$0.00         | \$0   | 0           |     |                |
| Private Sector                 | 0               | 1                               | 0              | 1             | 0             | 33.11         | 0.00           | 0     | 0           |     |                |
| State/Local/Tribal             | 3               | _ 1                             | 3              | 1             | 3             | 48.24         | 144.72         | 0     | 0           |     |                |
| Subtotal                       | 3               |                                 | 3              |               | 3             |               | \$144.72       |       | 0           | 1   | \$171.03       |
| Permit Exceptions - Noti       | fications 50    | CFR 21.12 (Ne                   | w)***          |               |               |               |                |       |             |     |                |
| Individuals/Households         | 0               | 0                               | 0              | 0             | 0             | \$35.63       | \$0.00         | \$0   | 0           |     |                |
| Private Sector                 | 731             | 1                               | 731            | 260           | 190,060       | 36.11         | 6,863,066.60   | 0     | 0           |     |                |
| State/Local/Tribal             | 3               | 0                               | 0              | 0             | 0             | 48.24         | 0.00           | 0     | 0           |     |                |
| Subtotal                       | 734             |                                 | 731            |               | 190,060       |               | \$6,863,066.60 |       | 0           | 1   | \$41,674.31    |
| Grand Total                    | 30,304          |                                 | 56,384         |               | 314,704       | \$1           | .5,409,874.17  |       | \$2,085,125 |     | \$2,944,044.86 |

## \* Rounded to match ROCIS

\*\*At no more than 5 years from the date a permit that exceeds 5 years is issued, and every 5 years thereafter, the permittee compiles and submits to the Service, eagle fatality data or other pertinent information that is site- specific for the project.

\*\*\* Zoos we contacted indicated an average of 5 hours per week to maintain the records so we used used an estimated of 260 hours per year for the burden associated with this new IC (5 hours each X 52 weeks per year)

| Cost Calculation Legend<br>(From question 12 in SSA) |  |
|--|--|
| #1 - Standard BLS Rates                              |  |
| #2 - Oil & Gas Industry Consultants                  |  |
| #3 - Natural Science Managers                        |  |
| #4 - Archivists, Curators, & Museum Workers          |  |

Items changed since original submission

|                           | PREVIOUS SUBMISSION<br>Total Annual Annual Burden Nonhour |                        | CU                         | RRENT SUBMISSI            | ION                    | PRORAM CHANGE<br>DUE TO AGENCY DISCRETION<br>r Total Annual Annual Burden Nonhour |                           |                        | PROGRAM CHAN           |                           |                        |
|---------------------------|---|------------------------|----------------------------|---------------------------|------------------------|---|---------------------------|------------------------|------------------------|---------------------------|------------------------|
| Regulation/Activity       | Total Annual<br>Responses                                 | Annual Burden<br>Hours | Nonhour<br>Burden Cost     | Total Annual<br>Responses | Annual Burden<br>Hours | Nonhour<br>Burden Cost  | Total Annual<br>Responses | Annual Burden<br>Hours | Nonhour<br>Burden Cost | Total Annual<br>Responses | Annual Burden<br>Hours |
| Application - Migratory I | Bird Import/Exp   | ort Permit (Form 3     | 3-200-6) 50 CF             | R 21                      |                        |   |                           |                        |                        |                           |                        |
| Individuals/Households    | 36  | 36                     | 2,700                      | 36                        | 36                     | 2,700   | 0                         | 0                      | 0                      | 0                         | 0                      |
| Private Sector            | 20  | 20                     | 1,500                      | 30                        | 30                     | 2,250   | 0                         | 0                      | 0                      | 10                        | 10                     |
| State/Local/Tribal        | 20  | 20                     | 0                          | 20                        | 20                     | 0   | 0                         | 0                      | 0                      | 0                         | 0                      |
| Application - Migratory I | Bird Scientific C   | Collecting Permit (    | Form 3-200-7)              | 50 CFR 21                 |                        |   |                           |                        |                        |                           |                        |
| Individuals/Households    | 50  | 250                    | 5,000                      | 70                        | 350                    | 7,000   | 0                         | 0                      | 0                      | 20                        | 100                    |
| Private Sector            | 60  | 300                    | 6,000                      | 80                        | 400                    | 8,000   | 0                         | 0                      | 0                      | 20                        | 100                    |
| State/Local/Tribal        | 100   | 500                    | 0                          | 100                       | 500                    | 0   | 0                         | 0                      | 0                      | 0                         | 0                      |
| Application - Taxidermy   | Permit (Form 3  | -200-8) 50 CFR 21      | L                          |                           |                        |   |                           |                        |                        |                           |                        |
| Private Sector            | 690   | 1,380                  | 69,000                     | 1,760                     | 3,520                  | 176,000   | 0                         | 0                      | 0                      | 1,070                     | 2,140                  |
| Application - Waterfowl   | Sale and Dispo  | sal Permit (Form 3     | 3-200-9) 50 CF             | R 21                      |                        |   |                           |                        |                        |                           |                        |
| Individuals/Households    | 70  | 105                    | 5,250                      | 40                        | 60                     | 3,000   | 0                         | 0                      | 0                      | (30)                      | (45)                   |
| Private Sector            | 300   | 450                    | 22,500                     | 170                       | 255                    | 12,750  | 0                         | 0                      | 0                      | (130)                     | (195)                  |
| Application - Special Pu  | rpose - Salvage   | e Permit (Form 3-2     | 00-10a) <mark>50 CF</mark> | R 21                      |                        |   |                           |                        |                        |                           |                        |
| Individuals/Households    | 110   | 165                    | 8,250                      | 165                       | 248                    | 12,375  | 0                         | 0                      | 0                      | 55                        | 83                     |
| Private Sector            | 150   | 225                    | 11,250                     | 225                       | 338                    | 16,875  | 0                         | 0                      | 0                      | 75                        | 113                    |
| State/Local/Tribal        | 40  | 60                     | 0                          | 55                        | 83                     | 0   | 0                         | 0                      | 0                      | 15                        | 23                     |
| Application - Rehabilitat | ion Permit (For   | m 3-200-10b) 50 (      | CFR 21                     |                           |                        |   |                           |                        |                        |                           |                        |
| Individuals/Households    | 20  | 240                    | 1,000                      | 50                        | 600                    | 2,500   | 0                         | 0                      | 0                      | 30                        | 360                    |
| Private Sector            | 150   | 1,800                  | 7,500                      | 380                       | 4,560                  | 19,000  | 0                         | 0                      | 0                      | 230                       | 2,760                  |
| State/Local/Tribal        | 5   | 60                     | 0                          | 12                        | 144                    | 0   | 0                         | 0                      | 0                      | 7                         | 84                     |
| Application - Special Pu  | rpose - Posses  | sion of Live Migra     | tory Birds for E           | Educational Pur           | poses (Form 3-20       | 0-10c) 50 CFR   | 21                        |                        |                        |                           |                        |
| Individuals/Households    | 75  | 338                    | 5,625                      | 125                       | 563                    | 9,375   | 0                         | 0                      | 0                      | 50                        | 225                    |
| Private Sector            | 175   | 788                    | 13,125                     | 240                       | 1,080                  | 18,000  | 0                         | 0                      | 0                      | 65                        | 292                    |
| Application - Special Pu  | rpose - Posses  | sion of Dead Migra     | atory Birds for            | Educational Pu            | rposes (Form 3-2       | 00-10d) 50 CFF  | R 21                      |                        |                        |                           |                        |
| Individuals/Households    | 35  | 88                     | 2,625                      | 95                        | 238                    | 7,125   | 0                         | 0                      | 0                      | 60                        | 150                    |
| Private Sector            | 30  | 75                     | 2,250                      | 80                        | 200                    | 6,000   | 0                         | 0                      | 0                      | 50                        | 125                    |

| Application - Special Pu | irpose - Migrato  | ry Game Bird P   | ropagation (Form   | n 3-200-10e) 50   | CFR 21           |                   |               |   |   |     |     |
|--------------------------|-------------------|------------------|--------------------|-------------------|------------------|-------------------|---------------|---|---|-----|-----|
| Individuals/Households   | 5                 | 8                | 375                | 5                 | 8                | 375               | 0             | 0 | 0 | 0   | 0   |
| Private Sector           | 10                | 15               | 750                | 10                | 15               | 750               | 0             | 0 | 0 | 0   | 0   |
| Application - Special Pu | rpose - Miscella  | aneous (Form 3-  | 200-10f) 50 CFR    | 21                |                  |                   |               |   |   |     |     |
| Individuals/Households   | 20                | 50               | 2,000              | 25                | 63               | 2,500             | 0             | 0 | 0 | 5   | 13  |
| Private Sector           | 25                | 63               | 2,500              | 29                | 73               | 2,900             | 0             | 0 | 0 | 4   | 10  |
| State/Local/Tribal       | 5                 | 13               | 0                  | 5                 | 13               | 0                 | 0             | 0 | 0 | 0   | 0   |
| Application - Raptor Pro | pagation Perm     | it (Form 3-200-1 | 2) 50 CFR 21       |                   |                  |                   |               |   |   |     |     |
| Individuals/Households   | 5                 | 20               | 500                | 25                | 100              | 2,500             | 0             | 0 | 0 | 20  | 80  |
| Private Sector           | 50                | 200              | 5,000              | 70                | 280              | 7,000             | 0             | 0 | 0 | 20  | 80  |
| Application - Migratory  | Bird Depredatio   | on Permit (Form  | 3-200-13) 50 CF    | R 21              |                  |                   |               |   |   |     |     |
| Individuals/Households   | 850               | 1,488            | 42,500             | 850               | 1,488            | 42,500            | 0             | 0 | 0 | 0   | 0   |
| Private Sector           | 1,050             | 3,675            | 105,000            | 1,050             | 3,675            | 105,000           | 0             | 0 | 0 | 0   | 0   |
| State/Local/Tribal       | 800               | 2,800            | 0                  | 800               | 2,800            | 0                 | 0             | 0 | 0 | 0   | 0   |
| Application - Eagle Exhi | ibition Permit (F | orm 3-200-14)    | 50 CFR 21          |                   |                  |                   |               |   |   |     |     |
| Private Sector           | 100               | 550              | 7,500              | 150               | 825              | 11,250            | 0             | 0 | 0 | 50  | 275 |
| State/Local/Tribal       | 20                | 110              | 0                  | 50                | 275              | 0                 | 0             | 0 | 0 | 30  | 165 |
| Application - Eagle Part | s for Native Am   | erican Religious | s Purposes - Perr  | nit Application a | and First Order  | (Form 3-200-15a)  | 50 CFR 22     |   |   |     |     |
| Individuals/Households   | 2,000             | 2,000            | 0                  | 2,400             | 2,400            | 0                 | 0             | 0 | 0 | 400 | 400 |
| Application - Eagle Part | s for Native Am   | erican Religious | s Purposes - Re-o  | order Request (F  | orm 3-200-15b)   | 50 CFR 22         |               |   |   |     |     |
| Individuals/Households   | 2,700             | 1,350            | 0                  | 2,700             | 1,350            | 0                 | 0             | 0 | 0 | 0   | 0   |
| Application - Take of De | predating Eagle   | es and Eagles th | nat Pose a Risk to | o Human or Eag    | le Health or Saf | ety (Form 3-200-1 | L6) 50 CFR 22 |   |   |     |     |
| Private Sector           | 3                 | 11               | 300                | 42                | 147              | 4,200             | 0             | 0 | 0 | 39  | 136 |
| State/Local/Tribal       | 3                 | 11               | 0                  | 40                | 140              | 0                 | 0             | 0 | 0 | 37  | 129 |

| Application - Take of Go  | aldon Eoglo Noc   | to (Form 2 200 1   | (9) E0 CED 22    |              |       |             |         |         |           |      |       |       |
|---------------------------|-------------------|--------------------|------------------|--------------|-------|-------------|---------|---------|-----------|------|-------|-------|
| Private Sector            |                   | 26                 | 400              | 4            | 26    | 400         | 0       | 0       | 0         | 0    | 0     |       |
| Application - Special Ca  | -                 |                    |                  | 4            | 20    | 400         | U       | U       | U         | U    | U     |       |
| State/Local/Tribal        | nada Goose Pe     | rmit (Form 3-200   | 0                | 7            | 49    | 0           | 0       | 0       | 0         | 6    | 42    |       |
|                           | -                 |                    | Ű                |              |       |             | U       | U       | U         | 0    | 42    |       |
| Application - Take of Go  |                   |                    |                  | 0            |       | 0 CFR 21-22 | (1.200) | (1.050) | (120,000) | 0    | 0     |       |
| Individuals/Households    | 1,300             | 1,950              | 130,000          | -            | 0     | -           | (1,300) | (1,950) | (130,000) |      | 0     |       |
| Private Sector            | 2,750             | 4,125              | 275,000          | 0            |       | 0           | (2,750) | (4,125) | (275,000) | 0    |       |       |
| State/Local/Tribal        | 1,000             | 1,500              | 0                | 0            | 0     | 0           | (1,000) | (1,500) | 0         | 0    | 0     | I     |
| Application - Eagle Incid |                   | -                  |                  |              | 240   | 7 500       | 0       | 0       | 0         | (10) | (100) |       |
| Individuals/Households    | 25                | 400                | 12,500           | 15           | 240   | 7,500       | 0       | 0       | 0         | (10) | (160) |       |
| Private Sector            | 120               | 1,920              | 60,000           | 95           | 1,520 | 237,500     | 0       | 0       | 177,500   | (25) | (400) |       |
| State/Local/Tribal        | 5                 | 80                 | 0                | 5            | 80    | 0           | 0       | 0       | 0         | 0    | 0     | I     |
| Application - Eagle Inci  | ,                 | • •                | ,                |              | 10    |             |         | 10      |           |      | -     |       |
| Individuals/Households    | 0                 | 0                  | 0                | 1            | 16    | 36,000      | 1       | 16      | 36,000    | 0    | 0     |       |
| Private Sector            | 0                 | 0                  | 0                | 15           | 240   | 540,000     | 15      | 240     | 540,000   | 0    | 0     |       |
| State/Local/Tribal        | 0                 | 0                  | 0                | 1            | 16    | 0           | 1       | 16      | 0         | 0    | 0     |       |
| Transfer of Long-Term     | • •               |                    |                  |              |       |             |         |         |           |      |       |       |
| Individuals/Households    | 1                 | 40                 | 1,000            | 1            | 40    | 1,000       | 0       | 0       | 0         | 0    | 0     |       |
| Private Sector            | 1                 | 40                 | 1,000            | 1            | 40    | 1,000       | 0       | 0       | 0         | 0    | 0     |       |
| State/Local/Tribal        | 1                 | 40                 | 0                | 1            | 40    | 0           | 0       | 0       | 0         | 0    | 0     |       |
| Amendment for Eagle Ir    |                   | •                  |                  |              |       |             |         |         |           |      |       |       |
| Individuals/Households    | 5                 | 30                 | 750              | 5            | 30    | 750         | 0       | 0       | 0         | 0    | 0     |       |
| Private Sector            | 20                | 120                | 3,000            | 20           | 120   | 10,000      | 0       | 0       | 7,000     | 0    | 0     |       |
| State/Local/Tribal        | 15                | 90                 | 0                | 15           | 90    | 0           | 0       | 0       | 0         | 0    | 0     |       |
| Amendment for Eagle In    | ncidental Take;   | Long-term (Forn    | n 3-200-71) 50 C | FR 22.26-27  |       |             |         |         |           |      |       |       |
| Individuals/Households    | 1                 | 452                | 36,000           | 1            | 452   | 36,000      | 0       | 0       | 0         | 0    | 0     |       |
| Private Sector            | 18                | 8,136              | 648,000          | 18           | 8,136 | 648,000     | 0       | 0       | 0         | 0    | 0     |       |
| State/Local/Tribal        | 1                 | 452                | 0                | 1            | 452   | 0           | 0       | 0       | 0         | 0    | 0     |       |
| Application - Eagle Nes   | t Take; Single N  | lest (Form 3-200-  | -72) 5 CFR 22.27 |              |       |             |         |         |           |      |       |       |
| Individuals/Households    | 10                | 160                | 5,000            | 5            | 80    | 2,500       | 0       | 0       | 0         | (5)  | (80)  |       |
| Private Sector            | 20                | 320                | 10,000           | 11           | 176   | 27,500      | 0       | 0       | 17,500    | (9)  | (144) |       |
| State/Local/Tribal        | 20                | 320                | 0                | 15           | 240   | 0           | 0       | 0       | 0         | (5)  | (80)  |       |
| Application - Eagle Nes   | t Take; Multiple  | Nests (Form 3-2    | 00-72) 50 CFR 2  | 2            |       |             |         |         |           |      |       |       |
| Individuals/Households    | 1                 | 40                 | 0                | 1            | 40    | 500         | 0       | 0       | 500       | 0    | 0     |       |
| Private Sector            | 8                 | 320                | 0                | 1            | 40    | 5,000       | 0       | 0       | 5,000     | (7)  | (280) |       |
| State/Local/Tribal        | 1                 | 40                 | 0                | 1            | 40    | 0           | 0       | 0       | 0         | 0    | 0     |       |
| Amendment - Eagle Nes     | st Take; Single I | Vest (Form 3-200   | -72) 50 CFR 22   |              |       |             |         |         |           |      |       |       |
| Individuals/Households    | 1                 | 20                 | 0                | 1            | 20    | 150         | 0       | 0       | 150       | 0    | 0     |       |
| Private Sector            | 1                 | 20                 | 0                | 1            | 20    | 500         | 0       | 0       | 500       | 0    | 0     |       |
| State/Local/Tribal        | 0                 | 0                  | 0                | 1            | 20    | 0           | 1       | 20      | 0         | 0    | 0     |       |
| Amendment - Eagle/Eag     | gle Nest Take; N  | lultiple Nests (Fe | orm 3-200-72) 50 | CFR 22.26-27 |       |             |         |         |           |      |       |       |
| Individuals/Households    | 1                 | 70                 | 1,000            | 1            | 70    | 150         | 0       | 0       | (850)     | 0    | 0     |       |
| Private Sector            | 1                 | 70                 | 1,000            | 1            | 70    | 500         | 0       | 0       | (500)     | 0    | 0     |       |
| State/Local/Tribal        | 1                 | 70                 | 0                | 1            | 70    | 0           | 0       | 0       | 0         | 0    | 0     |       |
|                           |                   |                    |                  |              |       |             |         |         |           |      |       | 1 - C |

| Application - Native Am  | erican Eagle Ta   | ke (Form 3-200-77  | 7)              |                 |       |        |   |   |   |       |         |  |
|--------------------------|-------------------|--------------------|-----------------|-----------------|-------|--------|---|---|---|-------|---------|--|
| Individuals/Households   | 5                 | 11                 | 0               | 1               | 2     | 0      | 0 | 0 | 0 | (4)   | (9)     |  |
| State/Local/Tribal       | 5                 | 11                 | 0               | 4               | 9     | 0      | 0 | 0 | 0 | (1)   | (2)     |  |
| Application - Native Am  | erican Eagle Av   | /iary (Form 3-200- | 78) 50 CFR 22   |                 |       |        |   |   |   |       |         |  |
| State/Local/Tribal       | 5                 | 25                 | 0               | 10              | 50    | 0      | 0 | 0 | 0 | 5     | 25      |  |
| Application - Special Pu | rpose - Abaten    | nent Permit (Form  | 3-200-79) 50 C  | FR 21           |       |        |   |   |   |       |         |  |
| Private Sector           | 25                | 63                 | 2,500           | 58              | 145   | 5,800  | 0 | 0 | 0 | 33    | 82      |  |
| Application - Special Pu | rpose - Utility I | Permit (Form 3-200 | 0-81) 50 CFR 2  | 2               |       |        |   |   |   |       |         |  |
| Private Sector           | 30                | 450                | 3,000           | 103             | 1,545 | 10,300 | 0 | 0 | 0 | 73    | 1,095   |  |
| Application - Eagle Tran | sport Permit (F   | orm 3-200-82) 50   | CFR 22          |                 |       |        |   |   |   |       |         |  |
| Private Sector           | 5                 | 5                  | 375             | 2               | 2     | 150    | 0 | 0 | 0 | (3)   | (3)     |  |
| State/Local/Tribal       | 5                 | 5                  | 0               | 2               | 2     | 0      | 0 | 0 | 0 | (3)   | (3)     |  |
| Annual Report - Scientif | ic Collecting (F  | orm 3-202-1) 50 (  | CFR 21          |                 |       |        |   |   |   |       |         |  |
| Individuals/Households   | 100               | 100                | 0               | 70              | 70    | 0      | 0 | 0 | 0 | (30)  | (30)    |  |
| Private Sector           | 130               | 130                | 0               | 80              | 80    | 0      | 0 | 0 | 0 | (50)  | (50)    |  |
| State/Local/Tribal       | 350               | 350                | 0               | 100             | 100   | 0      | 0 | 0 | 0 | (250) | (250)   |  |
| Annual Report - Waterfo  | wl Sale and Di    | sposal (Form 3-20  | 2-2) 50 CFR 21  | L               |       |        |   |   |   |       |         |  |
| Individuals/Households   | 100               | 50                 | 0               | 40              | 20    | 0      | 0 | 0 | 0 | (60)  | (30)    |  |
| Private Sector           | 900               | 450                | 0               | 170             | 85    | 0      | 0 | 0 | 0 | (730) | (365)   |  |
| Annual Report - Special  | Purpose - Salv    | age (Form 3-202-3  | 3) 50 CFR 21    |                 |       |        |   |   |   |       |         |  |
| Individuals/Households   | 450               | 450                | 0               | 450             | 450   | 0      | 0 | 0 | 0 | 0     | 0       |  |
| Private Sector           | 1,200             | 1,200              | 0               | 1,200           | 1,200 | 0      | 0 | 0 | 0 | 0     | 0       |  |
| State/Local/Tribal       | 200               | 200                | 0               | 200             | 200   | 0      | 0 | 0 | 0 | 0     | 0       |  |
| Annual Report - Rehabil  | itation (Form 3   | -202-4) 50 CFR 21  | L               |                 |       |        |   |   |   |       |         |  |
| Individuals/Households   | 350               | 1,050              | 0               | 50              | 150   | 0      | 0 | 0 | 0 | (300) | (900)   |  |
| Private Sector           | 1,250             | 3,750              | 0               | 380             | 1,140 | 0      | 0 | 0 | 0 | (870) | (2,610) |  |
| State/Local/Tribal       | 50                | 150                | 0               | 12              | 36    | 0      | 0 | 0 | 0 | (38)  | (114)   |  |
| Annual Report - Special  | Purpose - Pos     | session for Educa  | tion (Form 3-20 | 02-5) 50 CFR 21 |       |        |   |   |   |       |         |  |
| Individuals/Households   | 160               | 240                | 0               | 220             | 330   | 0      | 0 | 0 | 0 | 60    | 90      |  |
| Private Sector           | 1,000             | 1,500              | 0               | 320             | 480   | 0      | 0 | 0 | 0 | (680) | (1,020) |  |
| Annual Report - Special  | Purpose - Gan     | ne Bird (Form 3-20 | 2-6) 50 CFR 21  | L               |       |        |   |   |   |       |         |  |
| Individuals/Households   | 35                | 18                 | 0               | 5               | 3     | 0      | 0 | 0 | 0 | (30)  | (15)    |  |
| Private Sector           | 60                | 30                 | 0               | 60              | 30    | 0      | 0 | 0 | 0 | 0     | 0       |  |
| Annual Report - Special  | Purpose - Mise    | cellaneous (Form 3 | 3-202-7) 50 CF  | R 21            |       |        |   |   |   |       |         |  |
| Individuals/Households   | 20                | 10                 | 0               | 25              | 13    | 0      | 0 | 0 | 0 | 5     | 3       |  |
| Private Sector           | 75                | 38                 | 0               | 29              | 15    | 0      | 0 | 0 | 0 | (46)  | (23)    |  |
| State/Local/Tribal       | 30                | 15                 | 0               | 5               | 3     | 0      | 0 | 0 | 0 | (25)  | (12)    |  |
| Annual Report - Raptor   | Propagation (F    | orm 3-202-8) 50 C  | CFR 21          |                 |       |        |   |   |   |       |         |  |
| Individuals/Households   | 125               | 125                | 0               | 25              | 25    | 0      | 0 | 0 | 0 | (100) | (100)   |  |
| Private Sector           | 300               | 300                | 0               | 70              | 70    | 0      | 0 | 0 | 0 | (230) | (230)   |  |
| Annual Report - Depred   | ation (Form 3-2   | 02-9) 50 CFR 21    |                 |                 |       |        |   |   |   |       |         |  |
| Individuals/Households   | 765               | 765                | 0               | 850             | 850   | 0      | 0 | 0 | 0 | 85    | 85      |  |
| Private Sector           | 1,605             | 1,605              | 0               | 1,050           | 1,050 | 0      | 0 | 0 | 0 | (555) | (555)   |  |
| State/Local/Tribal       | 630               | 630                | 0               | 800             | 800   | 0      | 0 | 0 | 0 | 170   | 170     |  |
|                          |                   |                    |                 |                 |       |        |   |   |   |       |         |  |

| Annual Report - Special  | State Canada C  | Goose Permit (For | m 3-202-10) 50   | CFR 22         |                  |                |       |         |   |      |      |  |
|--------------------------|-----------------|-------------------|------------------|----------------|------------------|----------------|-------|---------|---|------|------|--|
| State/Local/Tribal       | 18              | 18                | 0                | 7              | 7                | 0              | 0     | 0       | 0 | (11) | (11) |  |
| Annual Report - Eagle D  | epredation (Fo  | rm 3-202-11) 50   | CFR 22           |                |                  |                |       |         |   |      |      |  |
| Individuals/Households   | 5               | 5                 | 0                | 0              | 0                | 0              | (5)   | (5)     | 0 | 0    | 0    |  |
| Private Sector           | 115             | 115               | 0                | 42             | 42               | 0              | 0     | 0       | 0 | (73) | (73) |  |
| State/Local/Tribal       | 5               | 5                 | 0                | 40             | 40               | 0              | 0     | 0       | 0 | 35   | 35   |  |
| Migratory Bird Special F | ourpose Posses  | sion (Education)  | Permit Acquisit  | ion and Transf | er Request (Form | 3-202-12) 50 C | FR 21 |         |   |      |      |  |
| Private Sector           | 2,500           | 3,750             | 0                | 2,500          | 3,750            | 0              | 0     | 0       | 0 | 0    | 0    |  |
| State/Local/Tribal       | 100             | 150               | 0                | 100            | 150              | 0              | 0     | 0       | 0 | 0    | 0    |  |
| Annual Report - Eagle E  | xhibition (Form | 3-202-13) 50 CF   | R 13, 21, and 22 |                |                  |                |       |         |   |      |      |  |
| Private Sector           | 500             | 500               | 0                | 500            | 500              | 0              | 0     | 0       | 0 | 0    | 0    |  |
| State/Local/Tribal       | 200             | 200               | 0                | 200            | 200              | 0              | 0     | 0       | 0 | 0    | 0    |  |
| Annual Report - Native   | American Eagle  | Aviary (Form 3-2  | 02-14) 50 CFR    | 14             |                  |                |       |         |   |      |      |  |
| State/Local/Tribal       | 10              | 5                 | 0                | 10             | 5                | 0              | 0     | 0       | 0 | 0    | 0    |  |
| Annual Report - Eagle T  | ake (Monitoring | and Reporting);   | Short-term (For  | m 3-202-15) 50 | ) CFR 22.26      |                |       |         |   |      |      |  |
| Individuals/Households   | 20              | 600               | 0                | 20             | 800              | 0              | 0     | 200     | 0 | 0    | 0    |  |
| Private Sector           | 520             | 15,600            | 0                | 520            | 20,800           | 0              | 0     | 5,200   | 0 | 0    | 0    |  |
| State/Local/Tribal       | 450             | 13,500            | 0                | 450            | 18,000           | 0              | 0     | 4,500   | 0 | 0    | 0    |  |
| Eagle Take Monitoring a  | nd Reporting (  | Removed)          |                  |                |                  |                |       |         |   |      |      |  |
| Individuals/Households   | 1               | 342               | 0                | 0              | 0                | 0              | (1)   | (342)   | 0 | 0    | 0    |  |
| Private Sector           | 18              | 6,156             | 0                | 0              | 0                | 0              | (18)  | (6,156) | 0 | 0    | 0    |  |
| State/Local/Tribal       | 1               | 342               | 0                | 0              | 0                | 0              | (1)   | (342)   | 0 | 0    | 0    |  |
| Eagle Nest Take and Mo   | nitoring Report | (Form 3-202-16)   | 50 CFR 22.27     |                |                  |                |       |         |   |      |      |  |
| Individuals/Households   | 6               | 96                | 0                | 6              | 96               | 0              | 0     | 0       | 0 | 0    | 0    |  |
| Private Sector           | 17              | 272               | 0                | 17             | 272              | 0              | 0     | 0       | 0 | 0    | 0    |  |
| State/Local/Tribal       | 17              | 272               | 0                | 17             | 272              | 0              | 0     | 0       | 0 | 0    | 0    |  |

| Avian Injury/Mortality Re   | eport (Form 3-2 | 02-17) 50 CFR 2 | 2               |        |         |           |         |         |         |         |       |
|---|-----------------|-----------------|-----------------|--------|---------|-----------|---------|---------|---------|---------|-------|
| Private Sector  | 250             | 1,500           | 0               | 250    | 1,500   | 0         | 0       | 0       | 0       | 0       | 0     |
| State/Local/Tribal  | 250             | 1,500           | 0               | 250    | 1,500   | 0         | 0       | 0       | 0       | 0       | 0     |
| Notice of Transfer or Sa  | le of Migratory | Waterfowl (Form | 1 3-186) 50 CFR | 21     |         |           |         |         |         |         |       |
| Individuals/Households  | 300             | 75              | 0               | 300    | 75      | 0         | 0       | 0       | 0       | 0       | 0     |
| Private Sector  | 12,600          | 3,150           | 0               | 12,600 | 3,150   | 0         | 0       | 0       | 0       | 0       | 0     |
| Quarterly Report - Migratory Bird Acquisition and Disposition (Form 3-186a) 50 CFR 21 |                 |                 |                 |        |         |           |         |         |         |         |       |
| Individuals/Households  | 18,640          | 4,660           | 0               | 18,640 | 4,660   | 0         | 0       | 0       | 0       | 0       | 0     |
| Pre-construction Monito   | ring Surveys 5  | 0 CFR 22.26     |                 |        |         |           |         |         |         |         |       |
| Private Sector  | 0               | 0               | 0               | 15     | 9,750   | 0         | 15      | 9,750   | 0       | 0       | 0     |
| Preparation of Eagle Co   | nservation Plan | 50 CFR 22.26    |                 |        |         |           |         |         |         |         |       |
| Private Sector  | 0               | 0               | 0               | 15     | 4,500   | 0         | 15      | 4,500   | 0       | 0       | 0     |
| Eagle Mortality Monitori  | ng and Reporti  | ng 50 CFR 22.26 | 5               |        |         |           |         |         |         |         |       |
| Private Sector  | 0               | 0               | 0               | 15     | 6,000   | 0         | 15      | 6,000   | 0       | 0       | 0     |
| Reporting Take of Eagle   | s 50 CFR 22.27  | ,               |                 |        |         |           |         |         |         |         |       |
| Private Sector  | 0               | 0               | 0               | 10     | 20      | 0         | 10      | 20      | 0       | 0       | 0     |
| Reporting Take of Threa   | tened and Enda  | angered Species | 50 CFR 22.27    |        |         |           |         |         |         |         |       |
| Private Sector  | 0               | 0               | 0               | 1      | 2       | 0         | 1       | 2       | 0       | 0       | 0     |
| 5 Year Permit Reviews   | 50 CFR 22.26(c) | (7)(ii)         |                 |        |         |           |         |         |         |         |       |
| Private Sector  | 0               | 0               | 0               | 4      | 120     | 32,000    | 4       | 120     | 32,000  | 0       | 0     |
| Eagle Recovery Tag (Fo  | rm 3-2480) 50 ( | CFR 22 (New)    |                 |        |         |           |         |         |         |         |       |
| State/Local/Tribal  | 0               | 0               | 0               | 500    | 125     | 0         | 500     | 125     | 0       | 0       | 0     |
| <b>Reporting - Native Amer</b>  | ican Eagle Take | e 50 CFR 22.22  | (New)           |        |         |           |         |         |         |         |       |
| State/Local/Tribal  | 0               | 0               | 0               | 3      | 3       | 0         | 3       | 3       | 0       | 0       | 0     |
| Permit Exceptions - Not   | fications 50 CI | R 21.12 (New)   |                 |        |         |           |         |         |         |         |       |
| Private Sector  | 0               | 0               | 0               | 731    | 190,060 | 0         | 731     | 190,060 | 0       | 0       | 0     |
| Grand Total   | 61,623          | 106,661         | 1,520,525       | 56,384 | 314,704 | 2,085,125 | (3,763) | 206,352 | 409,800 | (1,476) | 1,691 |

| 0<br>750<br>0<br>2,000<br>2,000<br>0<br>(2,250)<br>(9,750)<br>(9,750)<br>(9,750)<br>4,125<br>5,625<br>0<br>1,500<br>11,500<br>0<br>11,500<br>0<br>3,750<br>4,875 | 3E<br>NCY ESTIMATE<br>Nonhour<br>Burden Cost |
|--|--|
| 0<br>2,000<br>2,000<br>0<br>107,000<br>(2,250)<br>(9,750)<br>4,125<br>5,625<br>0<br>1,500<br>11,500<br>0<br>1,500<br>11,500<br>0<br>3,750<br>4,875<br>4,875      |  |
| 2,000<br>2,000<br>0<br>(2,250)<br>(9,750)<br>4,125<br>5,625<br>0<br>1,500<br>11,500<br>0<br>11,500<br>0<br>3,750<br>4,875  |  |
| 2,000<br>0<br>(2,250)<br>(9,750)<br>4,125<br>5,625<br>0<br>1,500<br>11,500<br>0<br>3,750<br>4,875<br>4,875   | 0  |
| 2,000<br>0<br>(2,250)<br>(9,750)<br>4,125<br>5,625<br>0<br>1,500<br>11,500<br>0<br>3,750<br>4,875<br>4,875   | 2 000  |
| 0<br>(2,250)<br>(9,750)<br>4,125<br>5,625<br>0<br>1,500<br>11,500<br>0<br>3,750<br>4,875<br>4,875  |  |
| 107,000<br>(2,250)<br>(9,750)<br>4,125<br>5,625<br>0<br>1,500<br>11,500<br>0<br>3,750<br>4,875<br>4,500  |  |
| (2,250)<br>(9,750)<br>4,125<br>5,625<br>0<br>1,500<br>11,500<br>0<br>3,750<br>4,875<br>4,875   | U  |
| (9,750)<br>4,125<br>5,625<br>0<br>1,500<br>11,500<br>0<br>3,750<br>4,875<br>4,500  | 107,000                                      |
| (9,750)<br>4,125<br>5,625<br>0<br>1,500<br>11,500<br>0<br>3,750<br>4,875<br>4,500  | (2.250)                                      |
| 4,125<br>5,625<br>0<br>1,500<br>11,500<br>0<br>3,750<br>4,875<br>4,500   |  |
| 5,625<br>0<br>1,500<br>11,500<br>0<br>3,750<br>4,875<br>4,875  | (9,730)                                      |
| 0<br>1,500<br>11,500<br>0<br>3,750<br>4,875<br>4,500   | 4,125  |
| 1,500<br>11,500<br>0<br>3,750<br>4,875<br>4,875  | 5,625  |
| 11,500<br>0<br>3,750<br>4,875<br>4,500   | 0  |
| 11,500<br>0<br>3,750<br>4,875<br>4,500   |  |
| 0<br>3,750<br>4,875<br>4,500   |  |
| 3,750<br>4,875<br>4,500  | 11,500                                       |
| 4,875<br>4,500   | 0  |
| 4,875<br>4,500   | 2.750  |
| 4,500  |  |
|  | 4,075  |
| 3,750  | 4,500  |
|  | 3,750  |

| 0     |
|-------|
| 0     |
|       |
| 500   |
| 400   |
| 0     |
|       |
| 2,000 |
| 2,000 |
|       |
| 0     |
| 0     |
| 0     |
|       |
| 3,750 |
| 0     |
| 0     |
| 0     |
| 0     |
| 0     |
| 3,900 |
| 0     |
| 3     |

| 0       |
|---------|
|         |
| 0       |
| 0       |
| 0       |
| 0       |
|         |
| (5,000) |
| 0<br>0  |
| U       |
| 0       |
| 0       |
| 0       |
| 0       |
| 0       |
| 0       |
|         |
| 0<br>0  |
| 0       |
|         |
| 0       |
| 0       |
| 0       |
| (2,500) |
| 0       |
| 0       |
| 0       |
| 0       |
| 0       |
|         |
| 0       |
| 0<br>0  |
| U       |
| 0       |
| 0       |
| 0       |

| -      |
|--------|
| 0<br>0 |
| 0      |
| 0      |
|        |
| 3,300  |
| 7,300  |
| 1,000  |
| (225)  |
| 0      |
| 0      |
| 0      |
| 0      |
|        |
| 0      |
| 0      |
| 0      |
| 0      |
| 0      |
| 0      |
| 0      |
| 0      |
|        |
| 0      |
| 0      |
| 0      |
| 0      |
|        |
| 0<br>0 |
| 0      |
|        |
| 0      |
| 0      |
| 0      |
| 0      |
| 0      |
|        |

| 0 |  |
|---|--|
|   |  |
| 0 |  |
| 0 |  |
| 0 |  |
|   |  |
| 0 |  |
| 0 |  |
|   |  |
| 0 |  |
| 0 |  |
|   |  |
| 0 |  |
|   |  |
| 0 |  |
| 0 |  |
| 0 |  |
|   |  |
| 0 |  |
| 0 |  |
| 0 |  |
|   |  |
| 0 |  |
| 0 |  |
| 0 |  |
|   |  |

| 0       |  |
|---------|--|
| 0       |  |
|         |  |
| 0       |  |
| 0       |  |
|         |  |
| 0       |  |
|         |  |
| 0       |  |
|         |  |
| 0       |  |
|         |  |
| 0       |  |
|         |  |
| 0       |  |
|         |  |
| 0       |  |
|         |  |
| 0       |  |
|         |  |
| 0       |  |
| 0       |  |
| 0       |  |
| 0       |  |
| 154,800 |  |
| 134,000 |  |